1ISO 6432 , %%l CSL-RD

AVENTICS™  AVENTICS CSL-RD R %I|/NEIS 4T &
(1506432) EMERSON



AVENTICS CSL-RD %5I/NESHT (1SO 6432) 2
2024-01-18

%%| CSL-RD

LK CSL-RD &% (1ISO 6432) SR —RAFENEAFLSI , IERE=FZI : 1ISO &, FHHFEM/PE, CSL-RD K3
(ISO 6432) HA 4. NSF-H1 EBEENRFS FDA FRENBHEMRK , ARBEEEREERER  S5EMER,

EARERI
TR LD ) AT LARS IE SR ZEAT A RS RIRR M A
RIEEMES
L2 mim 2 4

#M# 16 mm E 63 mm BERNEE
AEERNEEENS, BE/FBE/FRAER, TH
B, ATEX

48R

5

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 3
2024-01-18

T EFZSHEL, R3 CSL-RD

NEURE SRR
TR
ERTARBTL
ATEX F ik
WITARAS : $RAEIRIAT

24 P
R - |
i

AR

PSR

ERTARR ( 2@IEFDA/NSF/EC No. 1935/20041A1E )
REAR

EC NO 1935/2004

S RMEEHE]  TEREMRY N FEIE 3 iz 3h
HEED HEED

[N] [N]

16 25 M5 R EEWR M6 | BAALEIER & 109 127 R412020409
AFRAT

Al
16 50 M5 R SEEWH M6 | BhAEIEE & 109 127 R412020410

ATFR®T
Al

16 80 M5 HE TEEW M6 | BrAEIEE & 109 127 R412020411
RTERT
A

16 100 M5 R EEWRY M6 | BFAEIER & 109 127 R412020412
ATERT

Al
16 125 M5 R SEEWRH M6 | BhAEIER & 109 127 R412020413

BATFR&T
Al

16 160 M5 | EEWR M6 | BhAEIER B 109 127 R412020414
ATR®T
Al

16 200 M5 HE TEEWH M6 | BFAEIEE & 109 127 R412020415
RT&ERT

A
16 250 M5 e SEET M6 | BrAREIE & 109 127 R412020416

AFRAT
Al

16 320 M5 & SEEWH M6 | BhAEIIE & 109 127 R412020417
RTERT
A

16 400 M5 & TR M6 | FRAEIR & 109 127 R412020418
RTERT
A

16 500 M5 HE EEWR M6 | BARAEIER & 109 127 R412020419
AFRAT

Al
20 25 G1/8 HE SEEWR M8 | BFAEIER & 166 198 R412020453

ATRRT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 4
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

20 50 G 1/8 R EEWRY M8 | BAFAEIER & 166 198 R412020454
ATAERT

Al
20 80 G1/8 HE SRETR M8 | BARALEIER & 166 198 R412020455

ATFR&T
Al

20 100 G 1/8 & SEEWH M8 | BrAEIEE & 166 198 R412020456
RTERT
Al

20 125 G1/8 R EEWRY M8 | BHFAEIER & 166 198 R412020457
ATRAT

Al
20 160 G 1/8 iz SRETR M8 | BAALEIER & 166 198 R412020458

BATFR&T
Al

20 200 G1/8 HE | EEWR M8 | BHLFEIER & 166 198 R412020459
ATFR®T
Al

20 250 G 1/8 & TEEWH M8 | BrAEIEE & 166 198 R412020460
RT&ERT

A
20 320 G1/8 HE TEETH M8 | BrAEIEE & 166 198 R412020461

ATFRAT
Al

20 400 G1/8 HE | EEWR M8 | BHLFEIER & 166 198 R412020462
ATFR®T
Al
20 500 G 1/8 HE | EEWR M8 | ByALEIIR & 166 198 R412020463
ATFE®T
A

25 25 G 1/8 R EEWRY M10x1,25 | BEAEER & 260 309 R412020497
ATERT

Al
25 50 G1/8 HE SRETR M10x1,25 | BEAEIER & 260 309 R412020498

ATFR®T
Al

25 80 G1/8 & SEEWH M10x1,25 | BAAEE & 260 309 R412020499
RTERT
Al

25 100 G1/8 R EEWRY M10x1,25 | BEAEER & 260 309 R412020500
ATRAT

Al
25 125 G 1/8 iz SRETR M10x1,25 | PEAEER & 260 309 R412020501

BATFR&T
Al

25 160 G1/8 HE | ERWEI| M10x1,25 | BYAEE & 260 309 R412020502
ATFR®T

Al
25 200 G 1/8 HE | ERWEI| M10x1,25 | BYAFEFK & 260 309 R412020503
BATERT

Al
25 250 G1/8 B | SEZWEL|  M10x1,25| BHALEIF E 260 309 R412020504

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

5
2024-01-18

B

Rt BT

TEEMTIRY

B

ez
HEED

fH iz 3h
HEED

25

320

G1/8

hiE

TREW

M10x1,25

BhEITR E
ATAERT
Al

[N]

260

[N]
309

R412020505

25

400

G1/8

HE

SEET

M10x1,25

By EER &
ATFR&T
Al

260

309

R412020506

25

500

G 1/8

&

TREW

M10x1,25

BhALEIER &
RTERT
Al

260

309

R412020507

32

25

G 1/8

&

TREW

M10x1,25

Bh TR &
ATRAT
Al

435

505

R481624742

32

50

G1/8

HE

SEET

M10x1,25

By EER &
BATFR&T
Al

435

505

R481624743

32

80

G1/8

&

TEEWH

M10x1,25

B EIER 5E
ATFR®T
Al

435

505

R481624744

32

100

G 1/8

&

TREW

M10x1,25

BhALEIER &
RT&ERT
Al

435

505

R481624745

32

125

G1/8

E

TREW

M10x1,25

BhEIIR &
ATFRAT
Al

435

505

R481624746

32

160

G1/8

HE

TEET

M10x1,25

Bh A EIER 5E
ATFR®T
Al

435

505

R481624747

32

200

G1/8

&

TREWH

M10x1,25

B EIER &
RTERT
Al

435

505

R481624748

32

250

G1/8

R

TREW

M10x1,25

Bh TR 5E
ATERT
Al

435

505

R481624749

32

320

G1/8

HE

SEET

M10x1,25

By EER &
ATFR®T
Al

435

505

R481624750

32

400

G1/8

&

TREW

M10x1,25

BhAEIER &
RTERT
Al

435

505

R481624751

32

500

G1/8

&

TREW

M10x1,25

Bh TR &
ATRAT
Al

435

505

R481624752

40

25

G 1/4

HE

SEET

M12x1,25

By FER &
BATFR&T
Al

660

790

R481624753

40

50

G 1/4

HE

TEEWH

M12x1,25

B EIER 3E
ATFR®T
Al

660

790

R481624754

40

80

G 1/4

&

TREW

M12x1,25

BhALEIER &
RT&ERT
Al

660

790

R481624755

40

100

G 1/4

E

TREW

M12x1,25

BhEIFR &
ATFRAT
Al

660

790

R481624756

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 6
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

40 125 G 1/4 R EEWRY M12x1,25 | BEAEER & 660 790 R481624757
ATAERT

Al
40 160 G 1/4 R SEEWR | M12x1,25 | BFAEIR & 660 790 R481624758

ATFR&T
Al

40 200 G 1/4 & SEEWH M12x1,25 | BAAEIE & 660 790 R481624759
RTERT
Al

40 250 G 1/4 R EEWRY M12x1,25 | BEAEER & 660 790 R481624760
ATRAT

Al
40 320 G 1/4 i SEEWH | M12x1,25 | BFAEIR & 660 790 R481624761

BATFR&T
Al

40 400 G 1/4 HE | ERWE| M12x1,25 | BYAFEE & 660 790 R481624762
ATFR®T
Al

40 500 G 1/4 & TEEWH M12x1,25 | BFAEE & 660 790 R481624763
RT&ERT

A
50 25 G 1/4 HE TEETH M16x1,5 | BrAEIER & 1035 1235 R481624764

ATFRAT
Al

50 50 G 1/4 HE | EEWR M16x1,5 | BrAFEIER & 1035 1235 R481624765
ATFR®T
Al
50 80 G 1/4 HE | EEWR M16x1,5 | BEAEIER & 1035 1235 R481624766
ATFE®T
A

50 100 G 1/4 R EEWRY M16x1,5 | BEAEER & 1035 1235 R481624767
ATERT

Al
50 125 G 1/4 R SEEWR M16x1,5 | BFAFIER & 1035 1235 R481624768

ATFR®T
Al

50 160 G 1/4 & SEEWH M16x1,5 | BrAEIER & 1035 1235 R481624769
RTERT
Al

50 200 G 1/4 R EEWRY M16x1,5 | BEAEER & 1035 1235 R481624770
ATRAT

Al
50 250 G 1/4 T SEEWRH M16x1,5 | BFAFIER & 1035 1235 R481624771

BATFR&T
Al

50 320 G 1/4 HE SEETR M16x1,5| BEAEIER & 1035 1235 R481624772
ATRRAT

Al
50 400 G 1/4 R SEERR M16x1,5 | BFAEIFE & 1035 1235 R481624773
RATEmT

Al
50 500 G1/4 HE EETR M16x1,5 | BrAEIEE & 1035 1235 R481624774

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 7
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

63 25 G 3/8 R EEWRY M16x1,5 | BEAEER & 1765 1960 R481624775
ATAERT

Al
63 50 G 3/8 HE SRETR M16x1,5 | BEAEER & 1765 1960 R481624776

ATFR&T
Al

63 80 G 3/8 & SEEWH M16x1,5 | BrAEIER & 1765 1960 R481624777
RTERT
Al

63 100 G 3/8 HE EEWRY M16x1,5 | BEAEER & 1765 1960 R481624778
ATRAT

Al
63 125 G 3/8 iz SRETR M16x1,5 | BEAEER & 1765 1960 R481624779

BATFR&T
Al

63 160 G 3/8 HE | EEWR M16x1,5 | BEAFEIER & 1765 1960 R481624780
ATFR®T
Al

63 200 G 3/8 HE EEWRY M16x1,5| BHAEIER & 1765 1960 R481624781
BATERT
Al
63 250 G 3/8 HE SREWR M16x1,5 | BEAEER & 1765 1960 R481624782
BTRRT
Al
63 320 G 3/8 HE EEWR M16x1,5 | BEAEIER & 1765 1960 R481624783
ATa®T
A
63 400 G 3/8 HE SEEWR M16x1,5| BHALEIER & 1765 1960 R481624784
ATa®T
A
63 500 G 3/8 R EEWRY M16x1,5 | BEAEER & 1765 1960 R481624785
ATRRT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 8

2024-01-18
R~ #mm
G VA
T swz—\\—— KW _sw3 SW 3
5 | W
™ - w (W]
TP =] 4 - H-— g ———— B s o= i
\\ » = ()
7 e
N1 & O
EW) KY BF L
D \AM WF
XC+S
ZN+S
M1 M2
=
=
il
EE EE
PB+S
s=8
EE-O AM-2 BE BF CD H9 CK &KX D EE EW d13 KK KV
16 16 M16x1,5 16 6 19,5 22 M5 12 M6 24
20 20 M22x1,5 18 8 23 28 G1/8 16 M8 32
25 22 M22x1,5 20 8 25,5 33 G1/8 16 M10x1,25 32
32 22 M30x1,5 25 10 28 38 G1/8 16 M10x1,25 36
40 24 M38x1,5 28 12 36,5 49 G1/4 18 M12x1,25 46
50 32 M45x1,5 32 16 40,5 57 G1/4 21 M16x1,5 55
63 32 M45x1,5 32 16 47 70 G 3/8 21 M16x1,5 55
EE-O KW KX KY L &b M1 M2 MM 8 MR PB 1 VA
16 8 10 3,2 9 6,7 6,7 6 16 43,6 16
20 1 13 4 12 9,7 9,7 8 18 48,6 18
25 1 17 5 12 9,7 9,7 10 19 51,8 20
32 8 17 5 14 9,5 11,7 12 - 46 -
40 10 18 6 16 9,8 8,7 16 - 66 -
50 10 24 8 17 9,8 8,3 20 - 68 -
63 10 24 8 17 13 9,7 20 - 71,5 -
SW 2 h13
16 22 82 94,7 20 5 2,5
20 24 95 109,7 24 6 2,5
25 28 104 119,7 28 8 2,5
4

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 9
2024-01-18

EE-O WF 1,4 SW2h13 W
32 34 17,5 129,5 35 10 3
40 39 139,6 153,5 45 13 3
50 44 147,2 163 53 17 3
63 44 155 171 66 17 3

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 10
2024-01-18

T EFZSHEL, R3 CSL-RD

PEMEFSE
Tib#ri
BERATRAETL
ATEX ik
RITRA : BAERIT
L :0)

TEEHH

&

SR

PSR

ERTARR ( 2@IEFDA/NSF/EC No. 1935/20041A1E )
REAR

EC NO 1935/2004

S RMEEHE]  TEREMRY N FEIE 3 iz 3h
HEED HEED

[N] [N]

16 25 M5 R EEWR M6 | BAALEIER & 109 127 R412020431
AFRAT

Al
16 50 M5 R SEEWH M6 | BhAEIEE & 109 127 R412020432

ATFR®T
Al

16 80 M5 HE TEEW M6 | BrAEIEE & 109 127 R412020433
RTERT
A

16 100 M5 R EEWRY M6 | BFAEIER & 109 127 R412020434
ATERT

Al
16 125 M5 R SEEWRH M6 | BhAEIER & 109 127 R412020435

BATFR&T
Al

16 160 M5 HE SEER M6 | B EIER & 109 127 R412020436
ATRRT
Al

16 200 M5 HE TEEWH M6 | BFAEIEE & 109 127 R412020437
RT&ERT

A
16 250 M5 e SEET M6 | BrAREIE & 109 127 R412020438

AFRAT
Al

16 320 M5 HE | EEWRE M6 | BHLFEIER & 109 127 R412020439
ATFR®T
Al

16 400 M5 & TR M6 | FRAEIR & 109 127 R412020440
RTERT
A

16 500 M5 HE EEWR M6 | BARAEIER & 109 127 R412020441
AFRAT

Al
20 25 G1/8 HE SEEWR M8 | BFAEIER & 166 198 R412020475

ATRRT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 11
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

20 50 G 1/8 R EEWRY M8 | BAFAEIER & 166 198 R412020476
ATAERT

Al
20 80 G1/8 HE SRETR M8 | BARALEIER & 166 198 R412020477

ATFR&T
Al

20 100 G 1/8 & SEEWH M8 | BrAEIEE & 166 198 R412020478
RTERT
Al

20 125 G1/8 R EEWRY M8 | BHFAEIER & 166 198 R412020479
ATRAT

Al
20 160 G 1/8 iz SRETR M8 | BAALEIER & 166 198 R412020480

BATFR&T
Al

20 200 G1/8 HE | EEWR M8 | BHLFEIER & 166 198 R412020481
ATFR®T
Al

20 250 G 1/8 & TEEWH M8 | BrAEIEE & 166 198 R412020482
RT&ERT

A
20 320 G1/8 HE TEETH M8 | BrAEIEE & 166 198 R412020483

ATFRAT
Al

20 400 G1/8 HE | EEWR M8 | BHLFEIER & 166 198 R412020484
ATFR®T
Al
20 500 G 1/8 HE | EEWR M8 | ByALEIIR & 166 198 R412020485
ATFE®T
A

25 25 G 1/8 R EEWRY M10x1,25 | BEAEER & 260 309 R412020519
ATERT

Al
25 50 G1/8 HE SRETR M10x1,25 | BEAEIER & 260 309 R412020520

ATFR®T
Al

25 80 G1/8 & SEEWH M10x1,25 | BAAEE & 260 309 R412020521
RTERT
Al

25 100 G1/8 R EEWRY M10x1,25 | BEAEER & 260 309 R412020522
ATRAT

Al
25 125 G 1/8 iz SRETR M10x1,25 | PEAEER & 260 309 R412020523

BATFR&T
Al

25 160 G1/8 HE | ERWEI| M10x1,25 | BYAEE & 260 309 R412020524
ATFR®T

Al
25 200 G 1/8 HE | ERWEI| M10x1,25 | BYAFEFK & 260 309 R412020525
BATERT

Al
25 250 G1/8 B | SEZWEL|  M10x1,25| BHALEIF E 260 309 R412020526

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

12
2024-01-18

B

Rt BT

TEEMTIRY

B

ez
HEED

fH iz 3h
HEED

25

320

G1/8

hiE

TREW

M10x1,25

BhEITR E
ATAERT
Al

[N]

260

[N]

309

R412020527

25

400

G1/8

HE

SEET

M10x1,25

By EER &
ATFR&T
Al

260

309

R412020528

25

500

G 1/8

&

TREW

M10x1,25

BhALEIER &
RTERT
Al

260

309

R412020529

32

25

G 1/8

&

TREW

M10x1,25

Bh TR &
ATRAT
Al

435

505

R481624852

32

50

G1/8

HE

SEET

M10x1,25

By EER &
BATFR&T
Al

435

505

R481624853

32

80

G1/8

&

TEEWH

M10x1,25

B EIER 5E
ATFR®T
Al

435

505

R481624854

32

100

G 1/8

&

TREW

M10x1,25

BhALEIER &
RT&ERT
Al

435

505

R481624855

32

125

G1/8

E

TREW

M10x1,25

BhEIIR &
ATFRAT
Al

435

505

R481624856

32

160

G1/8

HE

TEET

M10x1,25

Bh A EIER 5E
ATFR®T
Al

435

505

R481624857

32

200

G1/8

&

TREWH

M10x1,25

B EIER &
RTERT
Al

435

505

R481624858

32

250

G1/8

R

TREW

M10x1,25

Bh TR 5E
ATERT
Al

435

505

R481624859

32

320

G1/8

HE

SEET

M10x1,25

By EER &
ATFR®T
Al

435

505

R481624860

32

400

G1/8

&

TREW

M10x1,25

BhAEIER &
RTERT
Al

435

505

R481624861

32

500

G1/8

&

TREW

M10x1,25

Bh TR &
ATRAT
Al

435

505

R481624862

40

25

G 1/4

HE

SEET

M12x1,25

By FER &
BATFR&T
Al

660

790

R481624863

40

50

G 1/4

HE

TEEWH

M12x1,25

B EIER 3E
ATFR®T
Al

660

790

R481624864

40

80

G 1/4

&

TREW

M12x1,25

BhALEIER &
RT&ERT
Al

660

790

R481624865

40

100

G 1/4

E

TREW

M12x1,25

BhEIFR &
ATFRAT
Al

660

790

R481624866

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 13
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

40 125 G 1/4 R EEWRY M12x1,25 | BEAEER & 660 790 R481624867
ATAERT

Al
40 160 G1/4 HE SRETR M12x1,25 | BEAEER & 660 790 R481624868

ATFR&T
Al

40 200 G 1/4 & SEEWH M12x1,25 | BAAEIE & 660 790 R481624869
RTERT
Al

40 250 G 1/4 R EEWRY M12x1,25 | BEAEER & 660 790 R481624870
ATRAT

Al
40 320 G 1/4 i SEEWH | M12x1,25 | BFAEIR & 660 790 R481624871

BATFR&T
Al

40 400 G 1/4 HE | ERWE| M12x1,25 | BYAFEE & 660 790 R481624872
ATFR®T
Al

40 500 G 1/4 & TEEWH M12x1,25 | BFAEE & 660 790 R481624873
RT&ERT

A
50 25 G 1/4 HE TEETH M16x1,5 | BrAEIER & 1035 1235 R481624874

ATFRAT
Al

50 50 G 1/4 HE | EEWR M16x1,5 | BrAFEIER & 1035 1235 R481624875
ATFR®T
Al
50 80 G 1/4 HE | EEWR M16x1,5 | BEAEIER & 1035 1235 R481624876
ATFE®T
A

50 100 G 1/4 R EEWRY M16x1,5 | BEAEER & 1035 1235 R481624877
ATERT

Al
50 125 G 1/4 R SEEWR M16x1,5 | BFAFIER & 1035 1235 R481624878

ATFR®T
Al

50 160 G 1/4 & SEEWH M16x1,5 | BrAEIER & 1035 1235 R481624879
RTERT
Al

50 200 G 1/4 R EEWRY M16x1,5 | BEAEER & 1035 1235 R481624880
ATRAT

Al
50 250 G 1/4 T SEEWRH M16x1,5 | BFAFIER & 1035 1235 R481624881

BATFR&T
Al

50 320 G 1/4 HE SEETR M16x1,5| BEAEIER & 1035 1235 R481624882
ATRRAT

Al
50 400 G 1/4 R SEERR M16x1,5 | BFAEIFE & 1035 1235 R481624883
RATEmT

Al
50 500 G1/4 HE EETR M16x1,5 | BrAEIEE & 1035 1235 R481624884

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 14
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

63 25 G 3/8 R EEWRY M16x1,5 | BEAEER & 1765 1960 R481624885
ATAERT

Al
63 50 G 3/8 HE SRETR M16x1,5 | BEAEER & 1765 1960 R481624886

ATFR&T
Al

63 80 G 3/8 & SEEWH M16x1,5 | BrAEIER & 1765 1960 R481624887
RTERT
Al

63 100 G 3/8 HE EEWRY M16x1,5 | BEAEER & 1765 1960 R481624888
ATRAT

Al
63 125 G 3/8 iz SRETR M16x1,5 | BEAEER & 1765 1960 R481624889

BATFR&T
Al

63 160 G 3/8 HE | EEWR M16x1,5 | BEAFEIER & 1765 1960 R481624890
ATFR®T
Al

63 200 G3/8 R SEEWH M16x1,5 | BrAEIE & 1765 1960 R481624891
ATRAT
Al
63 250 G 3/8 HE SREWR M16x1,5 | BEAEER & 1765 1960 R481624892
ATFRAT
Al

63 320 G 3/8 HE EEWR M16x1,5 | BEAEIER & 1765 1960 R481624893
ATa®T
Al
63 400 G 3/8 B SEEWH M16x1,5 | B EIER & 1765 1960 R481624894
ATERT
A
63 500 G 3/8 HE EEWRY M16x1,5 | BEAEER & 1765 1960 R481624895
ATERT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

2024-01-18
A
e SW 3 SW 3
SW2
R &
o | }‘\/
& , - g
- % -HBH—-—— - — - — - — —- 1+
] X 7 a
EW X KY @]
D WH L
AM
XC+S
ZN+S
M1 M2
=
EE; l >
d 3
EE EE
PB+S
S=1T1&
EE-0 AM CD H9 CK &K D EE EW d13 KK KX KY L S/
16 16 6 19,5 22 M5 12 M6 10 3.2 9
20 20 8 23 28 G1/8 16 M8 13 4 12
25 22 8 255 33 G1/8 16 M10x1,25 17 5 12
32 22 10 28 38 G1/8 16 M10x1,25 17 5 14
40 24 12 36,5 49 G1/4 18 M12x1,25 18 6 16
50 32 16 40,5 57 G1/4 21 M16x1,5 24 8 17
63 32 16 47 70 G3/8 21 M16x1,5 24 8 17
WH £1,4
16 21,2 22,7 6 16 43,6 75 82 94,7 20 5
20 25,7 27,7 8 18 48,6 8 95 109,7 24 6
25 28,2 29,7 10 19 51,8 9,5 104 119,7 28 8
32 34,6 1,7 12 - 46 8,9 17,5 129,5 35 10
40 38 8,7 16 - 66 10,8 139,6 153,5 45 13
50 42,1 8,3 20 § 68 1,7 147,2 163 53 17
63 45,3 9,4 20 - 715 1,7 155 171 66 17
EE-O SK]
16 2,5
20 2,5
25 2,5
A

o

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 16
2024-01-18

EE-O SW3
32

40

50

W W Wl w

63

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

17
2024-01-18

T EFZSHEL, R3 CSL-RD

ETF 1SO 6432
NEURE SRR

Tl FRAE
ERTARBTL
ATEX F ik
WA - | ARt
B

EEWRL

iz

SRS

PR

ERTER ( ©EIFDA/NSF/EC No. 1935/20041A1E )
REAR

EC NO 1935/2004

gt B €T TEETIRY FEIE3 fRHIE3)
HEED HEED
[N] [N]
32 25 G 1/8 RE SEET M10x1,25 435 505 R481624918
32 50 G1/8 & SEETH M10x1,25 435 505 R481624919
32 80 G 1/8 & SEEWH M10x1,25 435 505 R481624920
32 100 G1/8 HE SHEWR M10x1,25 435 505 R481624921
32 125 G 1/8 HE SEETH M10x1,25 435 505 R481624922
32 160 G1/8 & SEEWH M10x1,25 435 505 R481624923
32 200 G 1/8 HE TEEWH M10x1,25 435 505 R481624924
32 250 G1/8 HE SEET M10x1,25 435 505 R481624925
32 320 G1/8 & SEEWH M10x1,25 435 505 R481624926
32 400 G 1/8 & TEEWH M10x1,25 435 505 R481624927
32 500 G 1/8 RE SEET M10x1,25 435 505 R481624928
40 25 G1/4 HE SEETH M12x1,25 660 790 R481624929
40 50 G 1/4 & SEEWH M12x1,25 660 790 R481624930
40 80 G 1/4 HE SEEWR M12x1,25 660 790 R481624931
40 100 G1/4 HE SEETH M12x1,25 660 790 R481624932
40 125 G1/4 & SEEWH M12x1,25 660 790 R481624933
40 160 G 1/4 HE TEEWH M12x1,25 660 790 R481624934
40 200 G 1/4 HE SEET M12x1,25 660 790 R481624935
40 250 G1/4 & SEEWH M12x1,25 660 790 R481624936
40 320 G 1/4 & SEEWH M12x1,25 660 790 R481624937
40 400 G 1/4 RE EET M12x1,25 660 790 R481624938
40 500 G1/4 HE SEETH M12x1,25 660 790 R481624939
50 25 G 1/4 & SEEWH M16x1,5 1035 1235 R481624940
50 50 G 1/4 HE SHEWR M16x1,5 1035 1235 R481624941
50 80 G 1/4 HE SEETH M16x1,5 1035 1235 R481624942
50 100 G1/4 & SEEWH M16x1,5 1035 1235 R481624943

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 18
2024-01-18

M B €T TEEMTIRY FEIE 3 R HIES)
HEED HEED

[N] [N]
50 125 G 1/4 HE SHEWR M16x1,5 1035 1235 R481624944
50 160 G1/4 HE SEETH M16x1,5 1035 1235 R481624945
50 200 G 1/4 & SEEWH M16x1,5 1035 1235 R481624946
50 250 G 1/4 HE SEEWH M16x1,5 1035 1235 R481624947
50 320 G1/4 HEE SEEWH M16x1,5 1035 1235 R481624948
50 400 G1/4 & SEEWH M16x1,5 1035 1235 R481624949
50 500 G 1/4 & TEEWH M16x1,5 1035 1235 R481624950
63 25 G 3/8 HE SEEWH M16x1,5 1765 1960 R481624951
63 50 G 3/8 & SEEWH M16x1,5 1765 1960 R481624952
63 80 G 3/8 & SEEWH M16x1,5 1765 1960 R481624953
63 100 G 3/8 HE SEEWR M16x1,5 1765 1960 R481624954
63 125 G 3/8 & SEETH M16x1,5 1765 1960 R481624955
63 160 G 3/8 & SEEWH M16x1,5 1765 1960 R481624956
63 200 G 3/8 HE SEEWH M16x1,5 1765 1960 R481624957
63 250 G 3/8 HE SEEWH M16x1,5 1765 1960 R481624958
63 320 G 3/8 & SEEWH M16x1,5 1765 1960 R481624959
63 400 G 3/8 & SEEWH M16x1,5 1765 1960 R481624960
63 500 G 3/8 HE SEEWH M16x1,5 1765 1960 R481624961

RS #mm

Sw 2\\ SW3 SW 3

AM BF
WF

ZN + STROKE

KW PB + STROKE
KY M1 EE M2

)
il

3
S

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

19
2024-01-18

EE-0 AM BE BF CK &K D EE KK KV KW KX
32 22 M30x1,5 25 28 38 G1/8 M10x1,25 36 8 17
40 24 M38x1,5 28 36,5 49 G 1/4 M12x1,25 46 10 18
50 32 M45x1,5 32 40,5 57 G 1/4 M16x1,5 55 10 24
63 32 M45x1,5 32 47 70 G 3/8 M16x1,5 55 10 24

EE-0 KY M1 M2 MM 8 PB %1 SW 1 SW 2 h13 SW SW4 WF
32 5 9,5 14,2 12 46 35 10 3 24 34
40 6 9,8 13,3 16 66 45 13 3 30 39
50 8 9,8 12,6 20 68 53 17 3 34 44
63 8 13 14,5 20 715 66 17 3 34 44

EE-O ZN
32 104
40 128,2
50 134,5
63 143,2

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 20
2024-01-18

T EFZSHEL, R3 CSL-RD

NEURE SRR

TR

ERTARBTL

ATEX F ik

WITARAS : $RAEIRIAT

B A=

TEEW >
g ﬂ%’?ﬂ

SR

PSR

ERTARR ( 2@IEFDA/NSF/EC No. 1935/20041A1E )
REAR

EC NO 1935/2004

12 i HMEHET  EETRYK Frd FEIESY 18 HHE 3
[mm] HEED HEED
[N] [N]

16 25 M5 HE TEEWH M6 | BFAEIEE & 109 127 R480651366
RT&ERT

A
16 50 M5 e SEEWH M6 | BrALEIE & 109 127 R480651367

ATFRAT
Al

16 80 M5 HE SEETR M6 | BAAEIER & 109 127 R480651368
ATRST

i
16 100 M5 R EETR M6 | BFAEIER & 109 127 R480651369
ATa®T

A
16 125 M5 R EEWR M6 | BFAEIER & 109 127 R480651370
AFRRT

Al
16 160 M5 HE SEEWR M6 | BFAEIER & 109 127 R480651371

ATFR&T
Al

16 200 M5 & TEEW M6 | BrAEIEE & 109 127 R480651372
RTERT
A

16 250 M5 R EEWRY M6 | BRAEIER & 109 127 R480651373
ATFRAT

Al
16 320 M5 HE SREWR M6 | BARALEIER & 109 127 R480651374

ATFR®T
Al

16 400 M5 R EETR M6 | BAAEIER & 109 127 R480651375
ATRRT

Al
16 500 M5 RE SEERR M6 | BFLEIER & 109 127 R480651376
ATEmT

Al
20 25 G1/8 HE EETH M8 | BFAEIER & 166 198 R480651377

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 21
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

20 50 G 1/8 R EEWRY M8 | BAFAEIER & 166 198 R480651378
ATAERT

Al
20 80 G1/8 HE SRETR M8 | BARALEIER & 166 198 R480651379

ATFR&T
Al

20 100 G 1/8 & SEEWH M8 | BrAEIEE & 166 198 R480651380
RTERT
Al

20 125 G1/8 R EEWRY M8 | BHFAEIER & 166 198 R480651381
ATRAT

Al
20 160 G 1/8 iz SRETR M8 | BAALEIER & 166 198 R480651382

BATFR&T
Al

20 200 G1/8 HE | EEWR M8 | BHLFEIER & 166 198 R480651383
ATFR®T
Al

20 250 G 1/8 & TEEWH M8 | BrAEIEE & 166 198 R480651384
RT&ERT

A
20 320 G1/8 HE TEETH M8 | BrAEIEE & 166 198 R480651385

ATFRAT
Al

20 400 G1/8 HE | EEWR M8 | BHLFEIER & 166 198 R480651386
ATFR®T
Al
20 500 G 1/8 HE | EEWR M8 | ByALEIIR & 166 198 R480651387
ATFE®T
A

25 25 G 1/8 R EEWRY M10x1,25 | BEAEER & 260 309 R480651388
ATERT

Al
25 50 G1/8 HE SRETR M10x1,25 | BEAEIER & 260 309 R480651389

ATFR®T
Al

25 80 G1/8 & SEEWH M10x1,25 | BAAEE & 260 309 R480651390
RTERT
Al

25 100 G1/8 R EEWRY M10x1,25 | BEAEER & 260 309 R480651391
ATRAT

Al
25 125 G 1/8 iz SRETR M10x1,25 | PEAEER & 260 309 R480651392

BATFR&T
Al

25 160 G1/8 HE | ERWEI| M10x1,25 | BYAEE & 260 309 R480651393
ATFR®T

Al
25 200 G 1/8 HE | ERWEI| M10x1,25 | BYAFEFK & 260 309 R480651394
BATERT

Al
25 250 G1/8 B | SEZWEL|  M10x1,25| BHALEIF E 260 309 R480651395

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

22
2024-01-18

B

Rt BT

TEEMTIRY

B

ez
HEED

fH iz 3h
HEED

25

320

G1/8

hiE

TREW

M10x1,25

BhEITR E
ATAERT
Al

[N]

260

[N]

309

R480651396

25

400

G1/8

HE

SEET

M10x1,25

By EER &
ATFR&T
Al

260

309

R480651397

25

500

G 1/8

&

TREW

M10x1,25

BhALEIER &
RTERT
Al

260

309

R480651398

32

25

G 1/8

&

TREW

M10x1,25

Bh TR &
ATRAT
Al

435

505

R481624786

32

50

G1/8

HE

SEET

M10x1,25

By EER &
BATFR&T
Al

435

505

R481624787

32

80

G1/8

&

TEEWH

M10x1,25

B EIER 5E
ATFR®T
Al

435

505

R481624788

32

100

G 1/8

&

TREW

M10x1,25

BhALEIER &
RT&ERT
Al

435

505

R481624789

32

125

G1/8

E

TREW

M10x1,25

BhEIIR &
ATFRAT
Al

435

505

R481624790

32

160

G1/8

HE

TEET

M10x1,25

Bh A EIER 5E
ATFR®T
Al

435

505

R481624791

32

200

G1/8

&

TREWH

M10x1,25

B EIER &
RTERT
Al

435

505

R481624792

32

250

G1/8

R

TREW

M10x1,25

Bh TR 5E
ATERT
Al

435

505

R481624793

32

320

G1/8

HE

SEET

M10x1,25

By EER &
ATFR®T
Al

435

505

R481624794

32

400

G1/8

&

TREW

M10x1,25

BhAEIER &
RTERT
Al

435

505

R481624795

32

500

G1/8

&

TREW

M10x1,25

Bh TR &
ATRAT
Al

435

505

R481624796

40

25

G 1/4

HE

SEET

M12x1,25

By FER &
BATFR&T
Al

660

790

R481624797

40

50

G 1/4

HE

TEEWH

M12x1,25

B EIER 3E
ATFR®T
Al

660

790

R481624798

40

80

G 1/4

&

TREW

M12x1,25

BhALEIER &
RT&ERT
Al

660

790

R481624799

40

100

G 1/4

E

TREW

M12x1,25

BhEIFR &
ATFRAT
Al

660

790

R481624800

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 23
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

40 125 G 1/4 HE EEWRY M12x1,25 | BEAEER & 660 790 R481624801
ATAERT

Al
40 160 G 1/4 R SEEWR | M12x1,25 | BFAEIR & 660 790 R481624802

ATFR&T
Al

40 200 G 1/4 & SEEWH M12x1,25 | BAAEIE & 660 790 R481624803
RTERT
Al

40 250 G 1/4 HE EEWRY M12x1,25 | BEAEER & 660 790 R481624804
ATRAT

Al
40 320 G1/4 iz SRETR M12x1,25 | BEAEER & 660 790 R481624805

BATFR&T
Al

40 400 G 1/4 HE | ERWE| M12x1,25 | BYAFEE & 660 790 R481624806
ATFR®T
Al
40 500 G 1/4 WEE | SERERL| M12x1,25 | BHALEIER & 660 790 R481624807
BATERT
Al

b
KW VA

Sk SW 2
NI °

S [ >
S = " I‘ I W "
\ B ; [a1] “ _ Mt ” “ n‘f [an]
N 0 il O
\v/ § \_J O
EW KY BF L min
D | am | wr
XC+S
ZN+S
M1 M2
=
: {
LA N
EE EE
| PB+S |
" 1
S=17%&

EE-O AM BE BF CD H9 CK D EE EW d13 KK KV
16 10 M16x1,5 16 6 14,7 22 M5 12 M6 24
20 12 M22x1,5 18 8 17,9 28 G1/8 16 M8 32

Q

&

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

24
2024-01-18

EE-O AM BE BF CD H9 CK D EE EW d13 KK KV
25 16 M22x1,5 20 8 20,2 33 G1/8 16 M10x1,25 32
32 22 M30x1,5 25 10 21,5 38 G1/8 16 M10x1,25 36
40 24 M38x1,5 28 12 27 49 G 1/4 18 M12x1,25 46

EE-0 KW KX KY L min M1 M2 MM f8 MR PB %1 VA
16 8 10 3,2 9 6,7 6,7 6 16 43,6 16
20 1" 13 4 12 9,7 9,7 8 18 48,6 18
25 1" 17 5 12 9,7 9,7 10 19 52,6 20
32 8 17 5 14 9,5 1,7 12 - 46 b
40 10 18 6 16 9,8 8,7 16 - 66 -
16 22 82 94,7 20 5
20 24 95 109,7 24 6
25 28 104 119,7 28 8
32 34 17,5 129,5 35 10
40 39 139,6 153,58 45 13

\

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 25
2024-01-18

T EFZSHEL, R3 CSL-RD

PEMEFSE
Tib#ri
BERATRAETL
ATEX ik
RITRA : BAERIT
L :0)

TEEHH

&

SR

PSR

ERTARR ( 2@IEFDA/NSF/EC No. 1935/20041A1E )
REAR

EC NO 1935/2004

7= i HMEHET  EETRYK Frd FEIESY 18 HHE 3
[mm] HEED HEED
[N] [N]

16 25 M5 HE TEEWH M6 | THERAIBTL 109 127 R480651399
EE2N

16 50 M5 e SEET M6 | THHARMBEL 109 127 R480651400
ElE2N

16 80 M5 E SEEW M6 | THERMIBrL 109 127 R480651401
B

16 100 M5 HE TEEWH M6 | THERAIBrL 109 127 R480651402
EIE2N

16 125 M5 HE TEETH M6 | THEARMBEL 109 127 R480651403
BIER

16 160 M5 e SEEWH M6 | THHRAIBrL 109 127 R480651404
B

16 200 M5 & TEEW M6 | AL 109 127 R480651405
B

16 250 M5 HE TEETHHL M6 | THAMBEL 109 127 R480651406
B

16 320 M5 e SEEWH M6 | THHRMBrL 109 127 R480651407
ClE2N

16 400 M5 & EEW M6 | THERAIBTL 109 127 R480651408
B

16 500 M5 HE TEEWH M6 | THERAIBTL 109 127 R480651409
EE2N

20 25 G1/8 e SEETW M8 | THHARMBEL 166 198 R480651410
ElE2N

20 50 G1/8 & SEEWH M8 | THERMIBTL 166 198 R480651411
B

20 80 G1/8 HE TEEWH M8 | THERAIBrL 166 198 R480651412
EIE2N

20 100 G1/8 HE EE M8 | THARMBEL 166 198 R480651413
BER

20 125 G1/8 e SEEWH M8 | THHRMIBEL 166 198 R480651414
B

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 26
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

20 160 G1/8 HE TEEWH M8 | TARMBEL 166 198 R480651415
R

20 200 G1/8 & SEEWH M8 | THHRMIBEL 166 198 R480651416
B

20 250 G 1/8 & SEEWH M8 | THERMIBTL 166 198 R480651417
B

20 320 G 1/8 HE TEEWH M8 | THERAIBTL 166 198 R480651418
EIE2N

20 400 G1/8 e SEEWH M8 | THHARMBEL 166 198 R480651419
ClE2N

20 500 G1/8 & EEE W M8 | THERMIBrL 166 198 R480651420
EIE2N

25 25 G 1/8 HE TEEWH M10x1,25 | TFREIBE L 260 309 R480651421
B

25 50 G1/8 HE TEEWH M10x1,25 | TFRHIBHL 260 309 R480651422
CIE2N

25 80 G1/8 & SEEWH M10x1,25 | TR AY B4 260 309 R480651423
B2

25 100 G1/8 & TEEWH M10x1,25 | TRREYB L 260 309 R480651424
EIE2N

25 125 G1/8 HE TEEWH M10x1,25 | A B A 260 309 R480651425
R

25 160 G1/8 e SEEWH M10x1,25 | T#REBH A 260 309 R480651426
B

25 200 G1/8 & SEEW M10x1,25 | TRREYBEL 260 309 R480651427
B

25 250 G1/8 HE TEEWH M10x1,25 | TREIB L 260 309 R480651428
EIE2N

25 320 G1/8 e SEEWH M10x1,25 | TFREBH A 260 309 R480651429
ClE2N

25 400 G1/8 & EEE W M10x1,25 | T #EIBE L 260 309 R480651430
B

25 500 G1/8 & TEEWH M10x1,25 | TRFREIBE L 260 309 R480651431
B

32 25 G1/8 HE TEEWH M10x1,25 | TFHIBH L 435 505 R481624896
CIE2N

32 50 G1/8 & SEEWH M10x1,25 | TR EY B 435 505 R481624897
B2

32 80 G1/8 & TEEWH M10x1,25 | TRREYBL L 435 505 R481624898
EIE2N

32 100 G1/8 HE TEEWH, M10x1,25 | A B A 435 505 R481624899
R

32 125 G1/8 e SEEWH M10x1,25 | TFREBH A 435 505 R481624900
B

32 160 G 1/8 & SEEWH M10x1,25 | TRREyBEL 435 505 R481624901
B

32 200 G1/8 HE TEETHH M10x1,25 | TREIB L 435 505 R481624902
RN

32 250 G1/8 e SEEWH M10x1,25 | TFREIBH A 435 505 R481624903
ClE2N

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 27
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

32 320 G1/8 HE L M10x1,25 | TFHIBHL 435 505 R481624904
R

32 400 G1/8 & SEEWH M10x1,25 | TFREBH A 435 505 R481624905
B

32 500 G 1/8 & SEEWH M10x1,25 | TRREYBEL 435 505 R481624906
B

40 25 G 1/4 HE TEETHH M12x1,25 | TREIBE L 660 790 R481624907
EIE2N

40 50 G 1/4 HE SEEWH M12x1,25 | TR BHL 660 790 R481624908
ClE2N

40 80 G 1/4 & EEE W M12x1,25 | TH#EIBE L 660 790 R481624909
EIE2N

40 100 G 1/4 HE TEEWH M12x1,25 | TREBE L 660 790 R481624910
B

40 125 G 1/4 HE SEEWH M12x1,25 | TFRHIBHL 660 790 R481624911
CIE2N

40 160 G 1/4 HE SEEWH M12x1,25 | TFREBh A 660 790 R481624912
B2

40 200 G 1/4 & TEEWH M12x1,25 | TRREBE L 660 790 R481624913
EIE2N

40 250 G 1/4 HE TEETHH M12x1,25 | TFHIBHE 660 790 R481624914
R

40 320 G 1/4 HEE SEEWH M12x1,25 | TFREBH A 660 790 R481624915
B

40 400 G 1/4 & SEEW M12x1,25 | TRREBEL 660 790 R481624916
B

40 500 G 1/4 HE TEETHH M12x1,25 | TREIBE L 660 790 R481624917
EIE2N

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 28

2024-01-18
g
&% SW 2 a L2
81 @ - ] e or—% .
Eile= s — i
Se " 7 a
EW % <
D WH L min
AM
X055
ZN+S
M1 M2
=
= T [ |
chg—off-———— Sk
U a N
- I EE EE
PB+S
s=#1
EE-0 AM-2 CD H9 CK D EE EW d13 KK KX KY L min
16 16 6 14,7 22 M5 12 M6 10 3,2 9
20 20 8 17,9 28 G1/8 16 M8 13 4 12
25 22 8 20,2 33 G1/8 16 M10x1,25 17 5 12
32 22 10 21,5 38 G1/8 16 M10x1,25 17 5 14
40 24 12 27 49 G1/4 18 M12x1,25 18 6 16

16 21,2 22,7 6 16 43,6 75 82 94,7 20 5
20 25,7 27,7 8 18 48,6 8 95 109,7 24 6
25 28,2 29,7 10 19 51,8 9,5 104 119,7 28 8
32 34,6 1,7 12 46 8,9 117,5 129,5 35 10
40 38 8,7 16 66 10,8 139,6 1583,5 45 13

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

29
2024-01-18

T EFZSHEL, R3 CSL-RD

PEMEFSE
Tib#ri
BERATRAETL
ATEX ik
RITARAE - ERIRIT
L :0)

TEEHH

&

SR

PSR

ERTARR ( 2@IEFDA/NSF/EC No. 1935/20041A1E )
REAR

EC NO 1935/2004

Wit EH E] TEEMTIRY FEIE3) R =3
HEED HEED
[N] [N]
32 25 G 1/8 HE TEEWH M10x1,25 435 505 R481624962
32 50 G1/8 HE SEET M10x1,25 435 505 R481624963
32 80 G1/8 & SEEWH M10x1,25 435 505 R481624964
32 100 G 1/8 HE SEEWH M10x1,25 435 505 R481624965
32 125 G1/8 RE SEEWR M10x1,25 435 505 R481624966
32 160 G1/8 & SEETH M10x1,25 435 505 R481624967
32 200 G 1/8 & SEEWH M10x1,25 435 505 R481624968
32 250 G 1/8 HE SEEWR M10x1,25 435 505 R481624969
32 320 G 1/8 HE SEETH M10x1,25 435 505 R481624970
32 400 G1/8 & SEEWH M10x1,25 435 505 R481624971
32 500 G 1/8 HE SEEWH M10x1,25 435 505 R481624972
40 25 G 1/4 HE SEET M12x1,25 660 790 R481624973
40 50 G1/4 HEE SEEWH M12x1,25 660 790 R481624974
40 80 G 1/4 HE SEEWH M12x1,25 660 790 R481624975
40 100 G 1/4 RE SEEWR M12x1,25 660 790 R481624976
40 125 G1/4 HE SEETH M12x1,25 660 790 R481624977
40 160 G 1/4 & SEEWH M12x1,25 660 790 R481624978
40 200 G 1/4 HE SHEWR M12x1,25 660 790 R481624979
40 250 G1/4 HE SEETH M12x1,25 660 790 R481624980
40 320 G1/4 & SEEWH M12x1,25 660 790 R481624981
40 400 G 1/4 HE SEEWH M12x1,25 660 790 R481624982
40 500 G 1/4 HE SEET M12x1,25 660 790 R481624983

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 30

2024-01-18
R~ #mm
SW 2
— © ©
o o EEE-H - | [
AM BF
WF
ZN+S
KW
PB+S
KY M1 EE M2
=
gy | M Uy | E— ol
N |
1 (o) o)
KX KV J
S=111@
R~ #mm
EE-O AM BE BF cK @D EE KK KV KW KX
32 22 M30x1,5 25 21,5 38 G1/8 M10x1,25 36 8 17
40 24 M38x1,5 28 27 49 G1/4 M12x1,25 46 10 18
EE- O KY M1 M2 MM PB SW1 SW2 SwW4 WF ZN
32 5 9,5 14,2 12 46 35 10 24 34 104
40 6 9,8 13,3 16 66 45 13 30 39 128,2

EMERSON.




AVENTICS CSL-RD RFI'NESH (1ISO 6432) 31
2024-01-18

T EFZSHEL, R3 CSL-RD

PEMEFSE
Tib#ri
BERATRAETL
ATEX ik
WATARA : fRER I
L :0)

TEEHH

B &

SR

PSR

ERTARR ( 2@IEFDA/NSF/EC No. 1935/20041A1E )
REAR

EC NO 1935/2004

[

12 o AT EETIRY Frd FEES 18 HHE 3
[mm] HEED HEED

[N] [N]

16 25 M5| ¥ EF SEEHR M6 | BhAEIER & 109 127 R412020398
ATFERT

Al
16 50 M5| M E SEETH M6 | BhAEIER & 109 127 R412020399
ATFRART

Al
16 80 M5 M & SEETH M6 | BAAEIER & 109 127 R412020400

ATFR®T
Al

16 100 M5 B B TEEWH M6 | BrAEIEE & 109 127 R412020401
RTERT
A

16 125 M5 S & EEWRY M6 | BFAEIER & 109 127 R412020402
AFRAT

Al
16 160 M5 | B B SEEWR M6 | BhAEIER & 109 127 R412020403

BATFR&T
Al

16 200 M5 | 3t g SEEHRY M6 | BhAEIER B 109 127 R412020404
ATR®T
Al

16 250 M5 S & EEWRY M6 | BFAEIER & 109 127 R412020405
ATRAT

Al
16 320 M5 M Ep SREWR M6 | BARAEIER & 109 127 R412020406

ATFRAT
Al

16 400 M5 | i Exh SEEWH M6 | BhAEIEE & 109 127 R412020407
ATaRT
Al
16 500 M5 | 3 B SEEWH M6 | BhAFEIER 5E 109 127 R412020408
ATERT
Al
20 25 G 1/8 S 480 EEWR M8 | BARAEIER & 166 198 R412020442
BTRRT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 32
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

20 50 G 1/8 S & EEWRY M8 | BAFAEIER & 166 198 R412020443
ATAERT

Al
20 80 G1/8 M & SRETR M8 | BARALEIER & 166 198 R412020444

ATFR&T
Al

20 100 G 1/8 i B SEEWH M8 | BrAEIEE & 166 198 R412020445
RTERT
Al

20 125 G1/8 S &y EEWRY M8 | BHFAEIER & 166 198 R412020446
ATRAT

Al
20 160 G1/8 M Ep SRETR M8 | BAALEIER & 166 198 R412020447

BATFR&T
Al

20 200 G1/8| i & SEEHRY M8 | BHLFEIER & 166 198 R412020448
ATFR®T
Al

20 250 G1/8| M &Em| IEEWH M8 | B4R & 166 198 R412020449
RTERRT

b
20 320 G1/8| M &EW| IEEFH M8 | BEAEER & 166 198 R412020450

ATFRAT
Al

20 400 G1/8 M & SEETH M8 | BAAEIER & 166 198 R412020451
ATERRT
Ml
20 500 G1/8| 3t & EEHR M8 | BHAEIEE & 166 198 R412020452
ATFamRT
Al

25 25 G 1/8 S & EEWRY M10x1,25 | BEAEER & 260 309 R412020486
ATERT

Al
25 50 G1/8 M & SRETR M10x1,25 | BEAEIER & 260 309 R412020487

ATFR®T
Al

25 80 G1/8 i B SEEWH M10x1,25 | BAAEE & 260 309 R412020488
RTERT
Al

25 100 G1/8 S & EEWRY M10x1,25 | BEAEER & 260 309 R412020489
ATRAT

Al
25 125 G1/8 M E SRETR M10x1,25 | PEAEER & 260 309 R412020490

BATFR&T
Al

25 160 G1/8 M 420 SEETR M10x1,25 | BrEIEE & 260 309 R412020491
ATRRAT

Al
25 200 G1/8| i & SERERL | M10x1,25 | BHALEIER & 260 309 R412020492
RATEmT

Al
25 250 G 1/8 B E EETR M10x1,25 | By EI3F & 260 309 R412020493

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 33
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

25 320 G 1/8 S & EEWRY M10x1,25 | BEAEER & 260 309 R412020494
ATAERT

Al
25 400 G1/8 M & SRETR M10x1,25 | BEAEIER & 260 309 R412020495

ATFRmT
Al

25 500 G 1/8 i B SEEWH M10x1,25 | BAAEIE & 260 309 R412020496
RTERT
Al

32 25 G1/8 S &y EEWRY M10x1,25 | BEAEER & 435 505 R481624698
ATRAT

Al
32 50 G1/8 M Ep SRETR M10x1,25 | PEAEER & 435 505 R481624699

BATFR&T
Al

32 80 G1/8 S 420 EETR M10x1,25 | BrEIEE & 435 505 R481624700
ATRRAT
Al

32 100 G1/8| W &EM| SEEWE| M10x1,25| BHLEKE 435 505 R481624701
RTERRT

b
32 125 G1/8| W &EMm| SEEWE| M10x1,25| BHALEKE 435 505 R481624702

ATFRAT
Al

32 160 G1/8 M & SEEHEL | M10x1,25 | BFAEIR E 435 505 R481624703
ATERRT
Ml
32 200 G1/8| 3t & SERWH | M10x1,25 | BFALFEIER & 435 505 R481624704
ATFamRT
Al

32 250 G 1/8 S & EEWRY M10x1,25 | BEAEER & 435 505 R481624705
ATERT

Al
32 320 G1/8 M & SRETR M10x1,25 | BEAEIER & 435 505 R481624706

ATFR®T
Al

32 400 G1/8 i B SEEWH M10x1,25 | BAAEE & 435 505 R481624707
RTERT
Al

32 500 G1/8 S & EEWRY M10x1,25 | BEAEER & 435 505 R481624708
ATRAT

Al
40 25 G1/4| i Ex SEEWH | M12x1,25 | BFAEIR & 660 790 R481624709

BATFR&T
Al

40 50 G1/4| 3 B SETWRL | M12x1,25 | BHALEIER & 660 790 R481624710
ATRRAT

Al
40 80 G1/4| 3 B SERERL | M12x1,25 | BHALEIER & 660 790 R481624711
RATEmT

Al
40 100 G1/4 B E EETR M12x1,25 | By EI3F & 660 790 R481624712

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 34
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

40 125 G 1/4 S & EEWRY M12x1,25 | BEAEER & 660 790 R481624713
ATAERT

Al
40 160 G1/4| i Ex SEEWR | M12x1,25 | BFAEIR & 660 790 R481624714

ATFRmT
Al

40 200 G 1/4 i B SEEWH M12x1,25 | BAAEIE & 660 790 R481624715
RTERT
Al

40 250 G 1/4 S &y EEWRY M12x1,25 | BEAEER & 660 790 R481624716
ATRAT

Al
40 320 G1/4| i Ex SEEWH | M12x1,25 | BFAEIR & 660 790 R481624717

BATFR&T
Al

40 400 G1/4| i & SEEWH | M12x1,25 | BFALEER E 660 790 R481624718
ATFR®T
Al

40 500 G1/4| &M | CEEWE| M12x1,25| BHALEKE 660 790 R481624719
RTERRT

b
50 25 G1/4| M EW| IEEFH M16x1,5 | BEALEIER & 1035 1235 R481624720

ATFRAT
Al

50 50 G1/4 M & SEETH M16x1,5| BEAEIER & 1035 1235 R481624721
ATERRT
Ml
50 80 G1/4| 3t B EEHR M16x1,5| BrEIER & 1035 1235 R481624722
ATFamRT
Al

50 100 G 1/4 S & EEWRY M16x1,5 | BEAEER & 1035 1235 R481624723
ATERT

Al
50 125 G1/4 M & SRETR M16x1,5 | BEAEER & 1035 1235 R481624724

ATFR®T
Al

50 160 G 1/4 i B SEEWH M16x1,5 | BrAEIER & 1035 1235 R481624725
RTERT
Al

50 200 G 1/4 S & EEWRY M16x1,5 | BEAEER & 1035 1235 R481624726
ATRAT

Al
50 250 G1/4| i Ex SEEWRH M16x1,5 | BFAFIER & 1035 1235 R481624727

BATFR&T
Al

50 320 G 1/4 M 420 SEETR M16x1,5| BEAEIER & 1035 1235 R481624728
ATRRAT

Al
50 400 G1/4| 3 B SEERR M16x1,5 | BFAEIFE & 1035 1235 R481624729
RATEmT

Al
50 500 G1/4 B E EETR M16x1,5 | BrAEIEE & 1035 1235 R481624730

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 35
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

63 25 G 3/8 S & EEWRY M16x1,5 | BEAEER & 1765 1960 R481624731
ATAERT

Al
63 50 G 3/8 M & SRETR M16x1,5 | BEAEER & 1765 1960 R481624732

ATFR&T
Al

63 80 G 3/8 i B SEEWH M16x1,5 | BrAEIER & 1765 1960 R481624733
RTERT
Al

63 100 G 3/8 S &y EEWRY M16x1,5 | BEAEER & 1765 1960 R481624734
ATRAT

Al
63 125 G 3/8 M Ep SRETR M16x1,5 | BEAEER & 1765 1960 R481624735

BATFR&T
Al

63 160 G 3/8 S 420 EETR M16x1,5| BEAEIER & 1765 1960 R481624736
ATRRAT
Al

63 200 G3/8| i EH SEEWH M16x1,5 | BrAEIE & 1765 1960 R481624737
ATRAT
Al
63 250 G 3/8 S 480 SREWR M16x1,5 | BEAEER & 1765 1960 R481624738
ATFRAT
Al

63 320 G3/8 M & SEETH M16x1,5| BEAEIER & 1765 1960 R481624739
ATERRT
Ml
63 400 G3/8| B EEHR M16x1,5| BrEIER & 1765 1960 R481624740
ATFamRT
Al
63 500 G3/8| M B EETH M16x1,5| BrEIFR & 1765 1960 R481624741
ATFRRT
Al

EMERSON.



AVENTICS CSL-RD R FI/NESH (ISO 6432) 36
2024-01-18
A
D w2 KW
AN
S EEREETE —
< )
EW KY BF
|am|_wr
XC+S
ZN+S
M1 M2
= |
£ | E— O
EE EE
! PB+S
.
s=’

EE-O AM BE BF CD H9 D EE EW d13 KK KV KW
16 16 M16x1,5 16 6 22 M5 12 M6 24 8
20 20 M22x1,5 18 8 28 G1/8 16 M8 32 11
25 22 M22x1,5 20 8 33 G1/8 16 M10x1,25 32 1
32 22 M30x1,5 25 10 38 G1/8 16 M10x1,25 36 8
40 24 M38x1,5 28 12 49 G1/4 18 M12x1,25 46 10
50 32 M45x1,5 32 16 57 G1/4 21 M16x1,25 55 10
63 32 M45x1,5 32 16 70 G 3/8 21 M16x1,25 55 10

EE-O KX KY L min M1 M2 MM f8 MR PB 1 VA WF +1,4
16 10 3,2 9 6,7 6,7 6 16 43,6 16 22
20 13 4 12 9,7 9,7 8 18 48,6 18 24
25 17 5 12 9,7 9,7 10 19 52,6 20 28
32 17 5 14 9,5 1,7 12 - 46 - 34
40 18 6 16 9,8 8,7 16 - 66 - 39
50 24 8 17 9,8 8,3 20 - 68 - 44
63 24 8 17 13 9,3 20 - 71,5 - 44

EE-0 XC £1 ZN £ 1 SW 1 SW 2
16 82 94,7 20 5
20 95 109,7 24 6
25 104 119,7 28 8

EMERSON.




AVENTICS CSL-RD RFI'NESH (1ISO 6432)

37
2024-01-18

EE-O XC 1 ZN *1 S S
32 17,5 129,5 35 10
40 139,6 153,5 45 13
50 147,2 163 53 17
63 155 171 66 17

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 38
2024-01-18

T EFZSHEL, R3 CSL-RD

PEMEFSE
Tib#ri
BERATRAETL
ATEX ik
WITARAE : B4&RLt
L :0)

TEEHH

B &

SR

PSR

ERTARR ( 2@IEFDA/NSF/EC No. 1935/20041A1E )
REAR

EC NO 1935/2004

[

12 o AT EETIRY Frd FEES 18 HHE 3
[mm] HEED HEED

[N] [N]

16 25 M5| ¥ EF SEEHR M6 | BhAEIER & 109 127 R412020420
ATFERT

Al
16 50 M5| M E SEETH M6 | BhAEIER & 109 127 R412020421
ATFRART

Al
16 80 M5 M & SEETH M6 | BAAEIER & 109 127 R412020422

ATFR®T
Al

16 100 M5 B B TEEWH M6 | BrAEIEE & 109 127 R412020423
RTERT
A

16 125 M5 S & EEWRY M6 | BFAEIER & 109 127 R412020424
AFRAT

Al
16 160 M5 | B B SEEWR M6 | BhAEIER & 109 127 R412020425

BATFR&T
Al

16 200 M5| SRt Bk SEER M6 | B EIER E 109 127 R412020426
ATRRT
Al

16 250 M5 S & EEWRY M6 | BFAEIER & 109 127 R412020427
ATRAT

Al
16 320 M5 M Ep SREWR M6 | BARAEIER & 109 127 R412020428

ATFRAT
Al

16 400 M5 | i Exh SEEWH M6 | BhAEIEE & 109 127 R412020429
ATaRT
Al
16 500 M5 | 3 B SEEWH M6 | BhAFEIER 5E 109 127 R412020430
ATERT
Al
20 25 G 1/8 S 480 EEWR M8 | BARAEIER & 166 198 R412020464
BTRRT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 39
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

20 50 G 1/8 S & EEWRY M8 | BAFAEIER & 166 198 R412020465
ATAERT

Al
20 80 G1/8 M & SRETR M8 | BARALEIER & 166 198 R412020466

ATFR&T
Al

20 100 G 1/8 i B SEEWH M8 | BrAEIEE & 166 198 R412020467
RTERT
Al

20 125 G1/8 S &y EEWRY M8 | BHFAEIER & 166 198 R412020468
ATRAT

Al
20 160 G1/8 M Ep SRETR M8 | BAALEIER & 166 198 R412020469

BATFR&T
Al

20 200 G1/8| i & SEEHRY M8 | BHLFEIER & 166 198 R412020470
ATFR®T
Al

20 250 G1/8| M &Em| IEEWH M8 | B4R & 166 198 R412020471
RTERRT

b
20 320 G1/8| M &EW| IEEFH M8 | BEAEER & 166 198 R412020472

ATFRAT
Al

20 400 G1/8 M & SEETH M8 | BAAEIER & 166 198 R412020473
ATERRT
Ml
20 500 G1/8| 3t & EEHR M8 | BHAEIEE & 166 198 R412020474
ATFamRT
Al

25 25 G 1/8 S & EEWRY M10x1,25 | BEAEER & 260 309 R412020508
ATERT

Al
25 50 G1/8 M & SRETR M10x1,25 | BEAEIER & 260 309 R412020509

ATFR®T
Al

25 80 G1/8 i B SEEWH M10x1,25 | BAAEE & 260 309 R412020510
RTERT
Al

25 100 G1/8 S & EEWRY M10x1,25 | BEAEER & 260 309 R412020511
ATRAT

Al
25 125 G1/8| i Ex SEEWRL | M10x1,25 | BFALFEIER & 260 309 R412020512

BATFR&T
Al

25 160 G1/8 M 420 SEETR M10x1,25 | BrEIEE & 260 309 R412020513
ATRRAT

Al
25 200 G1/8| i & SERERL | M10x1,25 | BHALEIER & 260 309 R412020514
RATEmT

Al
25 250 G 1/8 B E EETR M10x1,25 | By EI3F & 260 309 R412020515

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 40
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

25 320 G 1/8 S & EEWRY M10x1,25 | BEAEER & 260 309 R412020516
ATAERT

Al
25 400 G1/8 M & SRETR M10x1,25 | BEAEIER & 260 309 R412020517

ATFRmT
Al

25 500 G 1/8 i B SEEWH M10x1,25 | BAAEIE & 260 309 R412020518
RTERT
Al

32 25 G1/8 S &y EEWRY M10x1,25 | BEAEER & 435 505 R481624808
ATRAT

Al
32 50 G1/8 M Ep SRETR M10x1,25 | PEAEER & 435 505 R481624809

BATFR&T
Al

32 80 G1/8 S 420 EETR M10x1,25 | BrEIEE & 435 505 R481624810
ATRRAT
Al

32 100 G1/8| W &EM| SEEWE| M10x1,25| BHLEKE 435 505 R481624811
RTERRT

b
32 125 G1/8| W &EMm| SEEWE| M10x1,25| BHALEKE 435 505 R481624812

ATFRAT
Al

32 160 G1/8 M & SEEHEL | M10x1,25 | BFAEIR E 435 505 R481624813
ATERRT
Ml
32 200 G1/8| 3t & SERWH | M10x1,25 | BFALFEIER & 435 505 R481624814
ATFamRT
Al

32 250 G 1/8 S & EEWRY M10x1,25 | BEAEER & 435 505 R481624815
ATERT

Al
32 320 G1/8 M & SRETR M10x1,25 | BEAEIER & 435 505 R481624816

ATFR®T
Al

32 400 G1/8 i B SEEWH M10x1,25 | BAAEE & 435 505 R481624817
RTERT
Al

32 500 G1/8 S & EEWRY M10x1,25 | BEAEER & 435 505 R481624818
ATRAT

Al
40 25 G1/4| i Ex SEEWH | M12x1,25 | BFAEIR & 660 790 R481624819

BATFR&T
Al

40 50 G1/4| 3 B SETWRL | M12x1,25 | BHALEIER & 660 790 R481624820
ATRRAT

Al
40 80 G1/4| 3 B SERERL | M12x1,25 | BHALEIER & 660 790 R481624821
RATEmT

Al
40 100 G1/4 B E EETR M12x1,25 | By EI3F & 660 790 R481624822

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 41
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

40 125 G 1/4 S & EEWRY M12x1,25 | BEAEER & 660 790 R481624823
ATAERT

Al
40 160 G1/4| i Ex SEEWR | M12x1,25 | BFAEIR & 660 790 R481624824

ATFRmT
Al

40 200 G 1/4 i B SEEWH M12x1,25 | BAAEIE & 660 790 R481624825
RTERT
Al

40 250 G 1/4 S &y EEWRY M12x1,25 | BEAEER & 660 790 R481624826
ATRAT

Al
40 320 G1/4| i Ex SEEWH | M12x1,25 | BFAEIR & 660 790 R481624827

BATFR&T
Al

40 400 G1/4| i & SEEWH | M12x1,25 | BFALEER E 660 790 R481624828
ATFR®T
Al

40 500 G1/4| &M | CEEWE| M12x1,25| BHALEKE 660 790 R481624829
RTERRT

b
50 25 G1/4| M EW| IEEFH M16x1,5 | BEALEIER & 1035 1235 R481624830

ATFRAT
Al

50 50 G1/4 M & SEETH M16x1,5| BEAEIER & 1035 1235 R481624831
ATERRT
Ml
50 80 G1/4| 3t B EEHR M16x1,5| BrEIER & 1035 1235 R481624832
ATFamRT
Al

50 100 G 1/4 S & EEWRY M16x1,5 | BEAEER & 1035 1235 R481624833
ATERT

Al
50 125 G1/4 M & SRETR M16x1,5 | BEAEER & 1035 1235 R481624834

ATFR®T
Al

50 160 G 1/4 i B SEEWH M16x1,5 | BrAEIER & 1035 1235 R481624835
RTERT
Al

50 200 G 1/4 S & EEWRY M16x1,5 | BEAEER & 1035 1235 R481624836
ATRAT

Al
50 250 G1/4| i Ex SEEWRH M16x1,5 | BFAFIER & 1035 1235 R481624837

BATFR&T
Al

50 320 G 1/4 M 420 SEETR M16x1,5| BEAEIER & 1035 1235 R481624838
ATRRAT

Al
50 400 G1/4| 3 B SEERR M16x1,5 | BFAEIFE & 1035 1235 R481624839
RATEmT

Al
50 500 G1/4 B E EETR M16x1,5 | BrAEIEE & 1035 1235 R481624840

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 42
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

63 25 G 3/8 S & EEWRY M16x1,5 | BEAEER & 1765 1960 R481624841
ATAERT

Al
63 50 G 3/8 M & SRETR M16x1,5 | BEAEER & 1765 1960 R481624842

ATFR&T
Al

63 80 G 3/8 i B SEEWH M16x1,5 | BrAEIER & 1765 1960 R481624843
RTERT
Al

63 100 G 3/8 S &y EEWRY M16x1,5 | BEAEER & 1765 1960 R481624844
ATRAT

Al
63 125 G3/8| i Ex SEEWRH M16x1,5 | BFAFIER & 1765 1960 R481624845

BATFR&T
Al

63 160 G 3/8 S 420 EETR M16x1,5| BEAEIER & 1765 1960 R481624846
ATRRAT
Al

63 200 G3/8| i EH SEEWH M16x1,5 | BrAEIE & 1765 1960 R481624847
ATRAT
Al
63 250 G 3/8 S 480 SREWR M16x1,5 | BEAEER & 1765 1960 R481624848
ATFRAT
Al

63 320 G3/8 M & SEETH M16x1,5| BEAEIER & 1765 1960 R481624849
ATERRT
Ml
63 400 G3/8| B EEHR M16x1,5| BrEIER & 1765 1960 R481624850
ATFamRT
Al
63 500 G3/8| M B EETH M16x1,5| BrEIFR & 1765 1960 R481624851
ATFRRT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

43
2024-01-18

SW 1

KK

KX
SW 2
| | A
Teii N E— Tl (@&
7 (]
KY <
WH L min
AM
XC+S
ZN+S
M2
] >
L[|
EE
| PB+S |

16 22 M5 12 M6 10 3,2 9 21,2
20 28 G1/8 16 M8 13 4 12 25,7
22 33 G1/8 16 M10x1,25 17 5 12 28,2
22 38 G1/8 16 M10x1,25 17 5 14 34,6
24 49 G 1/4 18 M12x1,25 18 6 16 38
32 57 G 1/4 21 M16x1,5 24 8 17 421
32 70 G 3/8 21 M16x1,5 24 8 17 45,3

22,7 16 43,6 75 82 94,7 20 5
27,7 18 48,6 8 95 109,7 24 6
29,7 19 52,6 9,5 104 119,7 28 8
1,7 - 46 8,9 117,56 129,5 35 10
8,7 - 66 10,8 139,6 1583,5 45 13
8,3 - 68 1,7 147,2 163 53 17
9,4 - 71,5 1,7 155 171 66 17
4

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 44
2024-01-18

T EFZSHEL, R3 CSL-RD

PNEABEFSE
Tib#ri
ERTERATIL
ATEX ik
RITARAE - ERIRIT
L :0)

TEEHH

B &

SR

PSR

ERTARR ( 2@IEFDA/NSF/EC No. 1935/20041A1E )
RIERRK

EC NO 1935/2004

[

12 o AT EETIRY Frd FEES 18 HHE 3
[mm] HEED HEED

[N] [N]

16 25 M5| ¥ EF SEEHR M6 | BhAEIER & 109 127 R412021846
ATFERT

Al
16 50 M5| M E SEETH M6 | BhAEIER & 109 127 R412021847
ATFRART

Al
16 80 M5 M & SEETH M6 | BAAEIER & 109 127 R412021848

ATFR®T
Al

16 100 M5 B B TEEWH M6 | BrAEIEE & 109 127 R412021849
RTERT
A

16 125 M5 S & EEWRY M6 | BFAEIER & 109 127 R412021850
AFRAT

Al
16 160 M5 | B B SEEWR M6 | BhAEIER & 109 127 R412021851

BATFR&T
Al

16 200 M5 | 3t g SEEHRY M6 | BhAEIER B 109 127 R412021852
ATR®T
Al

16 250 M5 S & EEWRY M6 | BFAEIER & 109 127 R412021853
ATRAT

Al
16 320 M5 M Ep SREWR M6 | BARAEIER & 109 127 R412021854

ATFRAT
Al

16 400 M5 | i Exh SEEWH M6 | BhAEIEE & 109 127 R412021855
ATaRT
Al
16 500 M5 | 3 B SEEWH M6 | BhAFEIER 5E 109 127 R412021856
ATERT
Al
20 25 G 1/8 S 480 EEWR M8 | BARAEIER & 166 198 R412021857
BTRRT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 45
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

20 50 G 1/8 S & EEWRY M8 | BAFAEIER & 166 198 R412021858
ATAERT

Al
20 80 G1/8 M & SRETR M8 | BARALEIER & 166 198 R412021859

ATFR&T
Al

20 100 G 1/8 i B SEEWH M8 | BrAEIEE & 166 198 R412021860
RTERT
Al

20 125 G1/8 S &y EEWRY M8 | BHFAEIER & 166 198 R412021861
ATRAT

Al
20 160 G1/8 M Ep SRETR M8 | BAALEIER & 166 198 R412021862

BATFR&T
Al

20 200 G1/8| i & SEEHRY M8 | BHLFEIER & 166 198 R412021863
ATFR®T
Al

20 250 G1/8| M &Em| IEEWH M8 | B4R & 166 198 R412021864
RTERRT

b
20 320 G1/8| M &EW| IEEFH M8 | BEAEER & 166 198 R412021865

ATFRAT
Al

20 400 G1/8 M & SEETH M8 | BAAEIER & 166 198 R412021866
ATERRT
Ml
20 500 G1/8| 3t & EEHR M8 | BHAEIEE & 166 198 R412021867
ATFamRT
Al

25 25 G 1/8 S & EEWRY M10x1,25 | BEAEER & 260 309 R412021868
ATERT

Al
25 50 G1/8 M & SRETR M10x1,25 | BEAEIER & 260 309 R412021869

ATFR®T
Al

25 80 G1/8 i B SEEWH M10x1,25 | BAAEE & 260 309 R412021870
RTERT
Al

25 100 G1/8 S & EEWRY M10x1,25 | BEAEER & 260 309 R412021871
ATRAT

Al
25 125 G1/8| i Ex SEEWRL | M10x1,25 | BFALFEIER & 260 309 R412021872

BATFR&T
Al

25 160 G1/8 M 420 SEETR M10x1,25 | BrEIEE & 260 309 R412021873
ATRRAT

Al
25 200 G1/8| i & SERERL | M10x1,25 | BHALEIER & 260 309 R412021874
RATEmT

Al
25 250 G 1/8 B E EETR M10x1,25 | By EI3F & 260 309 R412021875

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 46
2024-01-18

o BT REETRY PN R EE 3 {8 HHE 3
HEED HEED

[N] [N]

25 320 G1/8| 3t B SERWH | M10x1,25 | BFALFEIER & 260 309 R412021876
ATFRRT

Al
25 400 G1/8 M & SEEHEL| M10x1,25 | BFAEIR E 260 309 R412021877

ATFR&T
Al

25 500 G 1/8 i B SEEWH M10x1,25 | BAAEIE & 260 309 R412021878
RTERT
Al

SW 2 KW L
—\ A{&
| 1 1
- T : ’l I = LN
Lu 1
NS B — ) 1@
7 |
X | —
KY BF KV
AM WF
ZN+S
M1 M2
=
= |
| il
EE EE |
PB+S
S=1T18
EE-O AM-2 BE BF D EE KK KV KW KX KY
16 16 M16x1,5 16 22 M5 M6 24 8 10 3,2
20 20 M22x1,5 18 28 G1/8 M8 32 1 13 4
25 22 M22x1,5 20 33 G1/8 M10x1,25 32 1 17 5
EE-0 M1 M2 MM f8 PB +1 WF +1,4 ZN £ 1 SW 1 SW 2

16 6,7 10 6 43,6 22 82 20 5
20 9,7 14 8 48,6 24 96 24 6
25 9,7 14 10 52,6 28 104 28 8

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 47
2024-01-18

T EFZSHEL, R3 CSL-RD

PNEABEFSE
Tib#ri
EATERMTIL
[
WATARA : fRER I
L :0)

TEEHH

B &

SR

PSR

ERTARR ( 2@IEFDA/NSF/EC No. 1935/20041A1E )
RIERRK

EC NO 1935/2004

[

12 o AT EETIRY Frd FEES 18 HHE 3
[mm] HEED HEED

[N] [N]

16 25 M5 | 3 B SEEWH M6 | BhAFEIER 5E 109 127 R480646359
ATERT

Al
16 50 M5 S 480 EEWR M6 | BARAEIER & 109 127 R480646360
AFRAT

Al
16 80 M5 M & SREWR M6 | BFAEIER & 109 127 R480646361

ATFR®T
Al

16 100 M5 B B TEEWH M6 | BrAEIEE & 109 127 R480646362
RTERT
A

16 125 M5 S & EEWRY M6 | BFAEIER & 109 127 R480646363
AFRAT

Al
16 160 M5 M & SREWR M6 | BARAEIER & 109 127 R480646364

BATFR&T
Al

16 200 M5| SRt Bk SEER M6 | B EIER E 109 127 R480646365
ATRRT
Al

16 250 M5 S & EEWRY M6 | BFAEIER & 109 127 R480646366
ATRAT

Al
16 320 M5 M Ep SREWR M6 | BARAEIER & 109 127 R480646367

ATFRAT
Al

16 400 M5 S SEEWR M6 | BFAEIER & 109 127 R480646368
ATaRT
Al
16 500 M5 | 3 B SEEWH M6 | BhAFEIER 5E 109 127 R480646369
ATERT
Al
20 25 G 1/8 S 480 EEWR M8 | BARAEIER & 166 198 R480646370
BTRRT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 48
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

20 50 G 1/8 S & EEWRY M8 | BAFAEIER & 166 198 R480646371
ATAERT

Al
20 80 G1/8 M & SRETR M8 | BARALEIER & 166 198 R480646372

ATFRmT
Al

20 100 G 1/8 i B SEEWH M8 | BrAEIEE & 166 198 R480646373
RTERT
Al

20 125 G1/8 S &y EEWRY M8 | BHFAEIER & 166 198 R480646374
ATRAT

Al
20 160 G1/8 M Ep SRETR M8 | BAALEIER & 166 198 R480646375

BATFR&T
Al

20 200 G1/8| i & SEEHRY M8 | BHLFEIER & 166 198 R480646376
ATFR®T
Al

20 250 G1/8| M &Em| IEEWH M8 | B4R & 166 198 R480646377
RTERRT

b
20 320 G1/8| M &EW| IEEFH M8 | BEAEER & 166 198 R480646378

ATFRAT
Al

20 400 G1/8| i Ex SEZHRY M8 | BHLFEIER & 166 198 R480646379
ATFR®T
Al
20 500 G1/8| i & SEEHRY M8 | ByALEIIR & 166 198 R480646380
ATFE®T
A

25 25 G 1/8 S & EEWRY M10x1,25 | BEAEER & 260 309 R480646381
ATERT

Al
25 50 G1/8 M & SRETR M10x1,25 | BEAEIER & 260 309 R480646382

ATFR®T
Al

25 80 G1/8 i B SEEWH M10x1,25 | BAAEE & 260 309 R480646383
RTERT
Al

25 100 G1/8 S & EEWRY M10x1,25 | BEAEER & 260 309 R480646384
ATRAT

Al
25 125 G1/8 M E SRETR M10x1,25 | PEAEER & 260 309 R480646385

BATFR&T
Al

25 160 G1/8 M 420 SEETR M10x1,25 | BrEIEE & 260 309 R480646386
ATRRAT

Al
25 200 G1/8| i & SERERL | M10x1,25 | BHALEIER & 260 309 R480646387
RATEmT

Al
25 250 G 1/8 B E EETR M10x1,25 | By EI3F & 260 309 R480646388

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 49
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

25 320 G 1/8 S & EEWRY M10x1,25 | BEAEER & 260 309 R480646389
ATAERT

Al
25 400 G1/8 M & SRETR M10x1,25 | BEAEIER & 260 309 R480646390

ATFRmT
Al

25 500 G 1/8 i B SEEWH M10x1,25 | BAAEIE & 260 309 R480646391
RTERT
Al

32 25 G1/8 S &y EEWRY M10x1,25 | BEAEER & 435 505 R481624984
ATRAT

Al
32 50 G1/8 M Ep SRETR M10x1,25 | PEAEER & 435 505 R481624985

BATFR&T
Al

32 80 G1/8 S 420 EETR M10x1,25 | BrEIEE & 435 505 R481624986
ATRRAT
Al

32 100 G1/8| W &EM| SEEWE| M10x1,25| BHLEKE 435 505 R481624987
RTERRT

b
32 125 G1/8| W &EMm| SEEWE| M10x1,25| BHALEKE 435 505 R481624988

ATFRAT
Al

32 160 G1/8 B B EETH M10x1,25 | BrEIEE & 435 505 R481624989
ATERT
Al
32 200 G1/8| 3 B SERERL | M10x1,25 | BFALEIER & 435 505 R481624990
ATaRT
Al

32 250 G 1/8 S & EEWRY M10x1,25 | BEAEER & 435 505 R481624991
ATERT

Al
32 320 G1/8 M & SRETR M10x1,25 | BEAEIER & 435 505 R481624992

ATFR®T
Al

32 400 G1/8 i B SEEWH M10x1,25 | BAAEE & 435 505 R481624993
RTERT
Al

32 500 G1/8 S & EEWRY M10x1,25 | BEAEER & 435 505 R481624994
ATRAT

Al
40 25 G1/4 M E SRETR M12x1,25 | BEAEER & 660 790 R481624995

BATFR&T
Al

40 50 G 1/4 M 420 SEETH M12x1,25 | BrEIEE & 660 790 R481624996
ATRRAT

Al
40 80 G1/4| 3 B SERERL | M12x1,25 | BHALEIER & 660 790 R481624997
RATEmT

Al
40 100 G1/4 B E EETR M12x1,25 | By EI3F & 660 790 R481624998

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 50
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

40 125 G 1/4 S & EEWRY M12x1,25 | BEAEER & 660 790 R481624999
ATAERT

Al
40 160 G1/4 M & SRETR M12x1,25 | BEAEER & 660 790 R481625000

ATFRmT
Al

40 200 G 1/4 i B SEEWH M12x1,25 | BAAEIE & 660 790 R481625001
RTERT
Al

40 250 G 1/4 S &y EEWRY M12x1,25 | BEAEER & 660 790 R481625002
ATRAT

Al
40 320 G1/4 M Ep SRETR M12x1,25 | BEAEER & 660 790 R481625003

BATFR&T
Al

40 400 G1/4| i & SEEWH | M12x1,25 | BFALEER E 660 790 R481625004
ATFR®T
Al

40 500 G1/4| &M | CEEWE| M12x1,25| BHALEKE 660 790 R481625005
RTERRT

b
50 25 G1/4| M EW| IEEFH M16x1,5 | BEALEIER & 1035 1235 R481625006

ATFRAT
Al

50 50 G 1/4 B B EETH M16x1,5| BEAEIER & 1035 1235 R481625007
ATERT
Al
50 80 G1/4| 3 B SEERR M16x1,5 | BFALEIEE & 1035 1235 R481625008
ATaRT
Al

50 100 G 1/4 S & EEWRY M16x1,5 | BEAEER & 1035 1235 R481625009
ATERT

Al
50 125 G1/4 M & SRETR M16x1,5 | BEAEER & 1035 1235 R481625010

ATFR®T
Al

50 160 G 1/4 i B SEEWH M16x1,5 | BrAEIER & 1035 1235 R481625011
RTERT
Al

50 200 G 1/4 S & EEWRY M16x1,5 | BEAEER & 1035 1235 R481625012
ATRAT

Al
50 250 G 1/4 M E SRETR M16x1,5 | BEAEER & 1035 1235 R481625013

BATFR&T
Al

50 320 G 1/4 M 420 SEETR M16x1,5| BEAEIER & 1035 1235 R481625014
ATRRAT

Al
50 400 G1/4| 3 B SEERR M16x1,5 | BFAEIFE & 1035 1235 R481625015
RATEmT

Al
50 500 G1/4 B E EETR M16x1,5 | BrAEIEE & 1035 1235 R481625016

ATFRAT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 51
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

63 25 G 3/8 S & EEWRY M16x1,5 | BEAEER & 1765 1960 R481625017
ATAERT

Al
63 50 G 3/8 M & SRETR M16x1,5 | BEAEER & 1765 1960 R481625018

ATFR&T
Al

63 80 G 3/8 i B SEEWH M16x1,5 | BrAEIER & 1765 1960 R481625019
RTERT
Al

63 100 G 3/8 S &y EEWRY M16x1,5 | BEAEER & 1765 1960 R481625020
ATRAT

Al
63 125 G3/8| i Ex SEEWRH M16x1,5 | BFAFIER & 1765 1960 R481625021

BATFR&T
Al

63 160 G 3/8 S 420 EETR M16x1,5| BEAEIER & 1765 1960 R481625022
ATRRAT
Al

63 200 G3/8| i EH SEEWH M16x1,5 | BrAEIE & 1765 1960 R481625023
ATRAT
Al
63 250 G 3/8 S 480 SREWR M16x1,5 | BEAEER & 1765 1960 R481625024
ATFRAT
Al

63 320 G 3/8 S 420 EEWR M16x1,5 | BEAEIER & 1765 1960 R481625025
ATa®T
Al
63 400 G3/8| i EH SEEWH M16x1,5 | B EIER & 1765 1960 R481625026
ATERT
A
63 500 G 3/8 S & EEWRY M16x1,5 | BEAEER & 1765 1960 R481625027
ATERT
Al

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 52

2024-01-18
g
D w2 KW
\ —
l
2 =4 EHEH- - —— =]
(5] = ]
o I
é X _/
EW KY BF
| Am | wr
I
XC+S
ZN+S
M1 M2
=
= ]
| a
EE EE
| PB+S
I
s=1’
R~ #mm
EE-0 AM-2 BE BF CD H9 D EE EW d13 KK KV KW
16 16 M16x1,5 16 6 22 M5 12 M6 24 8
20 20 M22x1,5 18 8 28 G1/8 16 M8 32 1
25 22 M22x1,5 20 8 33 G1/8 16 M10x1,25 32 1
32 22 M30x1,5 25 10 38 G 1/8 16 M10x1,25 36 8
40 24 M38x1,5 28 12 49 G1/4 18 M12x1,25 46 10
50 32 M45x1,5 32 16 57 G1/4 21 M16x1,5 55 10
63 32 M45x1,5 32 16 70 G 3/8 21 M16x1,5 55 10
EE-0 KX KY L min M1 M2 MM 8 MR PB 1 VA WF +1,4
16 10 3,2 9 6,7 6,7 6 16 43,6 16 22
20 13 4 12 9,7 9,7 8 18 48,6 18 24
25 17 5 12 9,7 9,7 10 19 52,6 20 28
32 17 5 14 9,5 1,7 12 - 46 - 34
40 18 6 16 9,8 8,7 16 - 66 - 39
50 24 8 17 9,8 8,3 20 - 68 - 44
63 24 8 17 13 9,4 20 - 71,5 - 44
EE-0 XC %1 ZN +1 SW 1 SW 2
16 82 94,7 20 5
20 95 109,7 24 6

EMERSON.




AVENTICS CSL-RD RFI'NESH (1ISO 6432)

53
2024-01-18

EE-O XC 1 ZN *1 S S
25 104 119,7 28 8
32 117,5 129,5 35 10
40 139,6 153,5 45 13
50 147,2 163 53 17
63 155 171 66 17

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 54

2024-01-18
BRI L RS
IS0 15552
CSL-RD

EETEREH
32 B-T=F-BK B HRER R412028343
40 B-T=% - BK B HRAR R412028347
50, 63 B-T=F - 8K B HERAR R412028351
R412028343 R412028347

R~ #mm

M25x1

UL

R412028351
R #mm

\
[
M33x1,5

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 55

2024-01-18
BRI L RS
IS0 15552
CSL-RD

EETEREH o ANES)
32 B-T=F-BK| BE52TERZE (UHVMW-PE), ATk R412028344
KRS (TPU)
40 B-T=F-8K| BEs52TERJIHE (UHMW-PE), ATk R412028348
HREE (TPU)
50, 63 B-T=F-8K| BE52FTERZHE (UHVMW-PE), Tk R412028352
MRS (TPU)
R412028344 R412028348
R~ #mm R~ #mm

\
[
M25x1

R412028352
R #mm

\
[
M33x1,5

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 56

2024-01-18
BRI L RS
IS0 15552
CSL-RD

EENTEH [0 ANES]
32 BES FTRRZH (UHMW-PE) BEHTRRZHE (UHMW-PE) R412028345
40 BED FERZH (UHMW-PE) BES FERZH (UHMW-PE) R412028349
50, 63 BE9 FERZE (ULHMW-PE) BE9 FERZE (UHMW-PE) R412028353
R412028345 R412028349
R~ #mm R #mm

M25x1

R412028353
R #mm

\
[
M33x1,5

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 57

2024-01-18
BRI L RS
IS0 15552
CSL-RD

EEER SEETHH
[mm]
32 R ROUKZHE R412028346
40 - REUBZIE R412028350
50, 63 BB ROUEZH R412028354
R412028346 R412028350

R~ #mm

M25x1

UL

R412028354
R #mm

\
[
M33x1,5

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 58
2024-01-18

SEEMTHY 828 MR9

RERF E NHS
M6 TEN 8103190644
M8 TN 8103190164
M10x1,25 TEM 8103190464
M12x1,25 TEM 3590304000
M16x1,5 TEN 3590305000

/\ —

< KV - T KW
KK nHS KV Kw
M4 1823300033 10 3.2
M6 1823300034 13 4
M8 1823A00021 19 6
M10 8103190344 19 6
M10x1,25 | 1823300030 24 8
M20x1,5 | 1823300031 30 10
M27x2 1823A00029 41 13.5
M36x2 8103190414 50 16
M42x2 8103190424 60 21
M6 8103190644 10 3.2
M8 8103190164 13 4

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

59
2024-01-18

KK E= KV KW
M10x1,25 8103190464 17 5
M4 3330310000 7 22
M12x1,25 3590304000 19 6
M16x1,5 3590305000 24 8
M20x1,5 3590308000 30 10
M20x1,5 8103040344 30 10
M24x2 8103190394 36 12
M48x2 8103190434 65 25
M10x1,25 2990600303 17 5
M12x1,25 2990600304 19 6
M16x1,5 2990600305 24 8
M20x1,5 2990600308 30 10
M27x2 2990600312 41 13.5
M36x2 2990600316 50 16
M42x2 2990600325 60 21

4

od

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 60
2024-01-18

SEEFUERL AP2, &5 CM2

ATR3 e e

CSL-RD, SSI, ICM TR 3330516000

CCL-IC, CSL-RD, CCl, ICM TN 3330520000

CCL-IS, CCL-IC, CCI, CSL-RD, SSI, ICM, ICS-D2, 167 5 3590502000
CCL-IS, CCL-IC, CCl, SS, 167, ICS-D2 TR 3590504000

CCL-IS, ICS-D2, 167 M 3590505000

Y
A

|
A '
[/ ! N Y
— p=7 WA I O A I 1Y A
m &) W
X A
-l x
ER . CE _
A
J - e - — | E—
&)
Y :
|
KK WES CE CK e8 cL CM B12 ER BL LE
M4 3330510000 16 4 10 5 6 15 8
M6 3330516000 24 6 12 6 7 17 12
M8 3330520000 32 8 16 8 10 22 16
M10x1,25 | 3590502000 40 10 20 10 12 26 20
M12x1,25 | 3590504000 48 12 24 12 14 31 24

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

61
2024-01-18

KK E= CE CKe8 CL CM B12 ER BL LE
M16x1,5 3590505000 64 16 32 16 19 39 32
M20x1,5 3590508000 80 20 40 20 20 49 40

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 62
2024-01-18

El#LAP6 , CM2 R 5

AT R5 T3 B -0
[mm]

CCL-IC, CSL-RD, ICM 6 TEN 8958209012

CCL-IC, CSL-RD, ICM 8 TEN 8958209022

CCL-IS, CCL-IC, SSI, CSL-RD, ICM, 10 TEMN 8958209032

ICS-D2
CCL-IS, CCL-IC, SSI, ICS-D2 12 TEMN 8958209042
CCL-IS, CCL-IC, SSI, ICS-D2 16 TR 8958209052
CE

4 Yol \\
— -, J \ pE=EfsE v
e et S o
AN 7
LF

AV

@ CN H7 EN-0,1

M4 8958209002 1" 8 27 5 8 9 6 9 9

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 63

2024-01-18
KK E= AA AV min. CE @ CN H7 EN-0,1 ER EU max. LF SW
M6 8958209012 13 9 30 6 9 10 6,75 10 11
M8 8958209022 16 12 36 8 12 12 9 12 14
M10x1,25 | 8958209032 19 15 43 10 14 14 10.5 14 17
M12x1,25 8958209042 22 18 50 12 16 16 12 16 19
M16x1,5 8958209052 27 24 64 16 21 21 15 21 22
M20x1,5 8958209062 34 30 77 20 25 25 18 25 30
M27x2 8958209072 50 45 110 30 37 35 25 35 41
KK Z [°] max.
M4 6,5
M6 6,5
M8 6,5
M10x1,25 6,5
M12x1,25 6,5
M16x1,5 7,5
M20x1,5 7,5
M27x2 75

EMERSON.




AVENTICS CSL-RD RFI'NESH (1ISO 6432) 64
2024-01-18

128 MR3 , CM1 &5

M RIKYEEERD R R~
[mm]
16 M16x1,5 TEN 2918540030
20, 25 M22x1,5 TEM R913030290
32 M30x1,5 TEMN R412027981
40 M38x1,5 TEM R412027982
50, 63 M45x1,5 TN R412027983

EE-0 nEs RT3 BE KV Kw
8,10 1823300024 MNI M12x1,25 17 5.5
12,16 2915A51204 MNI M16x1,5 22 6
20,25 2915051207 | CSL-RD, MNI M22x1,5 30 7
8,10 0413215803 ICM M12x1,25 17 6.75

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

65
2024-01-18

EE-0 WE-S ATR5 BE Y Kw
16 0413214505 ICM M16x1,5 24 7
16 2918540030 | CSL-RD M16 x1,5 27 8
20,25 0413214602 ICM M22 x1,5 30 8
20,25 | R913030290 | CSL-RD M22 x1,5 32 11
32 0413214718 ICM M30x1,5 41 11
80 3008010180 102 M24x2 36 8
60, 85 3056010180 102 M24 36 8
32 R412027809 102 M30x1,5 36 10
40 R412027810 RPC M36x1,5 46 10
113,160 | 3012010180 102 M36x3 52 10
40 R412027811 RPC M38x1,5 46 10
50,63 | R412027812 RPC M45x1,5 60 12
250 3075010180 102 M48x3 65 12
R412027981 R412027982
R~ #mm R~ #mm

230,5

R412027983
R #mm

2388

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 66
2024-01-18

EZZRM MF8, 2% CM1
ISO 6432

9i:3(4

12,16 ISO 6432 TEM 3322016000

20, 25 ISO 6432 TEM 3322020000

JFB

/

| L
‘ TF MF
UF

— S
—ail} -

A

EE-0 L/E=50s ad D FB MF TF js14 UF UR

8,10 3322010000 12 4.5 3 30 40 22
12,16 3322016000 16 5.5 4 40 52 30
20, 25 3322020000 22 6.6 5 50 66 40

8,10 1821036012 12 4.5 3 30 40 25
12,16 1821036011 16 5.5 4 40 52 30
20,25 1821036010 22 6.6 5 50 66 40

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 67
2024-01-18

I ERE E & MS3, &5l CM1
ISO 6432

FRAEAL

12,16 ISO 6432 TN 3322216000

20, 25 ISO 6432 TEM 3322220000

NH js15

@FB H13
TR js14
usS

@ FB H13 @ KD H13 NH £0,3 js15 TR js14

8,10 3322210000 5 10 1" 4.5 12 3 16 25 35
8,10 1821332029 5 10 11 4.5 121 3 16 25 35
12,16 3322216000 6 12.5 14 5.5 16.1 4 20 32 42
12,16 1821332028 6 13 14 5.5 16.1 4 20 32 42
20, 25 3322220000 8 20 17.5 6.6 221 5 25 40 54
20, 25 1821332027 8 20 17 6.6 221 5 25 40 54

32 3322232000 9 24 20 6.6 30.1 5 32 48 65

Q

&

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

68

2024-01-18

UL %4 AB3, 31 CM1

12, 16 THEN 3323416000
20, 25 THW 3323420000
— - S
Y (
)
lli Y
-
N "1 ik
1
— | | —alf
|~
. E——

EE-0 MRS CM Cl CL FL FO MR agT TB UH
8,10 1827001447 8,1 4 13,1 24 1,5 5 4,5 12,5 20
8,10 3323410000 8 4 13 24 1,5 5 4.5 12 20
12,16 1827001446 12,1 6 18,1 27 2,0 7 55 15 25
12,16 3323416000 12 6 18 27 2,0 7 55 15 25
20, 25 1827001445 16,1 8 241 30 4,0 10 6,6 20 32
20,25 3323420000 16 8 24 30 4,0 10 6.6 22 34

32 3323432000 26 10 36 32 6,0 12 6.6 24 36

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

69
2024-01-18

UL Z %4 AB3, %1 CM1
CSL-RD

T e $ -0
[mm]
32 10 TEHW R412027966
40 12 THW R412027967
50, 63 16 THW R412027968
R412027966 R412027967
RS &mm R~ #mm

245

\
= /
31
35

R412027968
RS #mm

28

39

A
a)
211

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 70
2024-01-18

BEFRE , TN, K5 CCO2-SL

SR

PRIFIEL

NSF/ANSI 169
FFEFDARRME
FREREM 1935/2004

E4zESiEO A1 E&HEZ=SED 2 HERE Qn2 [ 1 H A=
[I/min]
g4 M5 2>1 50 TEN R412024736
a4 G 1/8 2>1 150 TEHR R412024737
a6 G1/8 2>1 190 TEN R412024738
a8 G 1/8 2>1 200 TEN R412024739
a6 G 1/4 2>1 370 TEM R412024740
a8 G 1/4 2>1 420 TEN R412024741
@10 G 3/8 2>1 1000 TEN R412024742
A
SW
< 8. e .
|
[/
o \: Al s
= | o
| 2
LA 01 #O2 B C D OE E K SW
R412024736 a4 M5 5 28.5 12.5 9 18 10 6
R412024737 @4 G1/8 5 32 155 9 195 14 9
R412024738 g6 G1/8 5 32 15.5 12 22 14 9
R412024739 a8 G1/8 5 32 15.5 14 225 14 9
R412024740 26 G 1/4 6.5 40 175 12 235 17 10
R412024741 g8 G1/4 6.5 40 17.5 14 24 17 10
R412024742 g 10 G1/4 9 52 22 16 28 22 14

EMERSON.




AVENTICS CSL-RD RFI'NESH (1ISO 6432) 71
2024-01-18

BEFRE , TN, K5 CCO2-SL

PRITEEL
SR

E&EZ=SED A1 EHz=SEQ 2 TRAE FEREQN 1 2
[I/min]
g4 G1/8 1>2 150 TEW R412024749
g6 G 1/8 1>2 190 TN R412024750
6 G 1/4 1>2 370 TEN R412024751
g8 G1/4 1>2 420 TEW R412024752
g 10 G 3/8 1>2 1000 TEN R412024753
bk
SwW

C
g
—
GE

RS o1 #O2 B c D OE F oK swW
R412024749 a4 G1/8 5 32 15.5 9 19.5 14 9
R412024750 a6 G1/8 5 32 15.5 12 22 14 9
R412024751 76 G 1/4 6.5 40 17.5 12 235 17 10
R412024752 28 G 1/4 6.5 40 17.5 14 24 17 10
R412024753 @10 G 3/4 9 52 22 16 28 22 14

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

72
2024-01-18

e Ri3s, K3 ST4

PRA
SSI

GSuU
RTC
CKP
GPC
MSC
MSN
RCM
CVvi

TR R4 L i

UL (Underwriters Laboratories)

cULus
RoHS

BT
AT R

EELAA

BARKE L
[m]

@ BRI
KER) , B

e, RAE.

@ IR
KER) , R
RE, BRAE.

&I
& DC
[V DC]

PRA, SSI,
GSU, RTC,
CKP, GPC,
MSC, MSN,

RCM, CVI

o]

(Al

0.13

(Al
0.13

30

RARERS

R412019488

PRA, SSI,
GSU, RTC,
CKP, GPC,
MSC, MSN,

RCM, CVI

Yot

0.13

0.13

30

AR RS

R412019489

PRA, SSI,
GSU, RTC,
CKP, GPC,
MSC, MSN,

RCM, CVI

#F PNP

0.1

10

30

BEREP, K
R RS

R412019680

PRA, SSI,
GSU, RTC,
CKP, GPC,
MSC, MSN,

RCM, CVI

#BF PNP

0.1

10

30

BEREP, R
RS

R412019681

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

73
2024-01-18

M

|
A

!

1) LED 2) FFR R

L=8BRKEBN=1%® BK=8E BU=E&

2,9 — —g
|
Ol =
.
A
o~
N
Q
1 — BN
e —BU
| X BK
3 x 0,09 mm?2

A

!

wE= A B C
R412019488 26.3 6.3 20.3
R412019489 26.3 6.3 20.3
R412019680 23.7 2.8 17.7
R412019681 23.7 2.8 17.7
R412019684 23.7 2.8 17.7
R412019685 237 2.8 17.7

4

&

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 74
2024-01-18

e Ri3s, K3 ST4

PRA

SSi

GsuU
RTC
CKP
GSP
MSC
MSN
RCM
CVI

EZ PR
M8

UL (Underwriters Laboratories)
cULus

RoHS

BERZE EEAAEH BREBERGT BREERGE B/NIE
ATR5 XEBER), B XKER), R BE DC
ME , RAE. RE , RAE. [V DC]
[A] [A]
PRA, SSI, EJag:) 0.3 0.13 0.13 5 30 RIRHERS R412019682
GSU, RTC,
CKP, GSP,
MSC, MSN,
RCM, CVI
PRA, SSI, B+ PNP 0.3 0.1 10 30| EERP, & R412019683
GSU, RTC, MR
CKP, GSP,
MSC, MSN,
RCM, CVI
I
A
|l —
B - 2,9 — —
O P
r L%:? <
/|
2)/ 1)/ *
s C (o] [e0] ~7y6
e o [
Q
=  — T e
Eermr e =l 2
# [
—eg} ~36 _—
] L —
1)LED 2) Fr= &
L=s88KE

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 75
2024-01-18

RS A B c
R412019682 26.3 6.3 20.3
R412019683 237 2.8 17.7
R412019694 237 2.8 17.7

R412019682, R412019683
a5 B M8x1 (Z M HEK)
1 4 3

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 76
2024-01-18

e Ri38, R% ST6

PRA
PRE
CClI
KPZ
SSI

GPC
CVI
LT B ED
CEIAIE

cULus

RoHS

UL (Underwriters Laboratories)

BEERE P13 B4 EB4g BB BPIHE BRI BIPIHE IHh=s
ATRY AAE KEL ROEFX BEDC ®HEDC H®HEAC KAC,
[m] B , [V DC] [V DC] [V AC] BKRE

B ffﬁ‘ , [V AC]
HX -
[Al

PRA, EHE REW 3 0.3 0.5 10 30 10 30| MR R412022869
PRE, #
CCl,
KPZ, SSl,
GPC, CVI

PRA, ERE REM 5 0.3 0.5 10 30 10 30| MR R412022870
PRE, b
CCl,
KPZ, SSI,
GPC, CVI

PRA, EHR REfy 10 0.3 0.5 10 30 10 30| RIRMEFR R412022871
PRE, #
ccl,
KPZ, SSI,
GPC, CVI

PRA, | BF PNP REB 3 0.13 10 30 TR, R412022853
PRE, AR R
CCl, il
KPZ, SSl,
GPC, CVI

PRA, | 2F PNP REM 5 0.13 10 30 EERRY, R412022855
PRE, RARMER
ccl, i
KPZ, SSI,
GPC, CVI

EMERSON.



AVENTICS CSL-RD %5I/NESHT (1SO 6432)

77
2024-01-18

M
57 295 L
r o | B
/ 1
: == {%, SR =
X 23 x 0,14 mm2
- 30
21,75 ,
|OBZ (2]
N
[| 8
| A QLY .
— -

3*

1" = FFx R 2* = EEE# 3* = LED B 0iEH
L=4KE BN =41 BK=26 BU=Ef
X=8F%%x:11.6 mm

BN

+ BU

BK

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 78
2024-01-18

e Ri38, R% ST6

PRA
PRE

CcCl

KPZ

SSi

GPC
CVI

EZe PR
CEIAIE
cULus
RoHS
UL (Underwriters Laboratories)

BEERE W EE BN B4 mEE  wEE  &MIHE RRKIFE HNMIHE  IFER

AFRI AHRE KEL #REF*X HKEFFx =®HEDC HEDC HEAC FEAC,
[m] Bi) Bi) [V DC] [V DC] [V AC] RAE
EfRE, RHE, [V AC]
RAE. RAE.
[A] [A]
PRA, ERE | REZKE 0.3 0.3 05 10 30 10 30| RIRMEFR R412022875
PRE, b
ccl,
KPZ, SSI,
GPC, CVI
PRA, | £F PNP REfs 0.3 0.13 10 30 ERRF, R412022859
PRE, RIRMER
ccl, i
KPZ, SSI,
GPC, CVI
FEE S
29,5 L
2L 2,7 36-41,5
48 ‘ —
/71* 2*
® o = e | ] ,7,,,2
X
21,75 ,
| 0,82 2
N
S}
%
3* ‘5“@

1* = FF KR 2* = EE1g4 3* = LED B HiEH
L=8B%KE
X=8FX:11,6mm, £ :83mm

EMERSON.



AVENTICS CSL-RD %5I/NESHT (1SO 6432)

79
2024-01-18

R412022875, R412022859
M B M8x1 (Z M HEK)
1 4 3

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

80
2024-01-18

e Ri38, R% ST6

PRA
PRE

CcCl

KPZ

SSi

GPC
CVI

EZe PR
M8
ATEX
CEIAIE
cULus
RoHS
UL (Underwriters Laboratories)

g (LI M

Ru

ﬂ- 4 BK
PNP |3 _isju |

EERR
ATR3

EELAA BAINR

PRA, PRE,
CCl, KPZ,
SSI, GPC,

Cvi

PNP

Rab

BEEKE L

[m]

0.3

6 0 B3R (FF
KER) , B

e, BAE.
[Al

0.1 10

30

BEREP, K

R412022860
RAERY

Mg

5,7

2,7

4,8

21,75 ,
0,82

3%

1* = FF KRR 2* = EE14 3* = LED B HiEH
L=B%KE
X=8BFK:116mm, ¥ :83mm

32,9

9‘“%6

M8x1

EMERSON.



AVENTICS CSL-RD %5I/NESHT (1SO 6432) 81

2024-01-18
R412022860
EWSE Mex1 (SHEL)
1 4 3
s

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

82
2024-01-18

e Ri38, R% ST6

PRA

PRE

CcCl

KPZ

SSi

GPC

CVI

TR B LR
ATEX

CEIAIE

cULus

RoHS

UL (Underwriters Laboratories)

1 BN

T HoaBN
T B R
PNP s_jBU ] _

EERR
ATR3

EEAAE

B4R

BAKE L

[m]

6 0 B85 (FF
KER) , B

JRE , BAME.
[Al

BT
B E DC
[V DC]

\

PRA, PRE, PNP REk 0.1 10 30| EBRGRP R R412022854
CCl, KPZ, AR
SSl, GPC,
cvi
PRA, PRE, PNP R 0.1 10 30| EBRRP R R412022856
CCl, KPZ, MR
SSl, GPC,
cvi
A
BT 29,5
48 2.7
F 1* 2*
7 1 BN
2 e — =] - BU
BK
X 23 x 0,14 mm2
21,75

1*=FFXRR 2" = EERKE 3* = LED BOEHA
L=8BRKEBN=1® BK=8E BU=E&

X=8FX :11.6 mm

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 83
2024-01-18

RRABRBEERE, 5 CB1

ST4
ST6

16 RER, THEN R412021791
20 RELE, THN R412021792
25 RERE, THW R412021793

1) AT ST6 WRRIARAE 2) AT ST4 WRBMNRAHE 3) BRI (MRATEN ) 4) SEHEM 5) RE (HMRENTHER ) 6) REWF

L/E=30s A B © D
R412021791 27.7 325 22.1 17.3
R412021792 32.4 35 22.4 19.7
R412021793 37.4 39.5 24.3 22.2

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 84
2024-01-18

RRABRBEERE, 5 CB1

ST6

NG

"

25 32 TEN R412024050
40 40 TEM R412024051
50 50 TEMN R412024052
63 63 TEM R412024053
25 63 TN R412024054

30,5 52 r—j

1) EERYE 2) RET 3) REFEIE 4) SELF 5) SMLIMTTEBREERZR

ne=s SHEF 9 AT R5 B
R412024050 | 25-32 mm ST6 Fig. B
R412024051 40 mm ST6 Fig. B
R412024052 50 mm ST6 Fig. B
R412024053 63 mm ST6 Fig. B
R412024054 | 25-63 mm ST6 Fig. A

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 85
2024-01-18

% %] QR2-C-RPN 44N

RS
ERTRRETL
G @D
[#]
M5 a4 2 2544004050
G1/8 a4 2 R412004890
G1/8 6 2 R412004891
G1/8 a8 2 R412004892
G 1/4 a6 2 R412004893
G 1/4 a8 2 R412004894
G 1/4 g 10 2 R412004895
G 3/8 g10 2 R412004896
G 3/8 d12 2 R412004897
M
A
@)=l
sz e
'\-I-’ \ ||
SW2 C G
E
WES #0OD EQOG A B C E* SWi1 S D1
2544004050 a4 M5 20.5 4 7 15 9 - 9
R412026847 26 M5 225 4 - 16 9 - 11
R412010036 a4 M7 225 55 5 15 1" 25 9
R412010037 a6 M7 24 5.5 6 16 1" 3.5 1"
R412004890 a4 G1/8 17 5.5 7 15 13 3 9
R412004891 26 G1/8 235 55 12.5 16 13 4 11
R412004892 28 G1/8 23.5 5.5 12.5 18 13 5 13

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

86
2024-01-18

ES #0D E0OG A B C E* SW1 Sw2 D1
R412004893 a6 G1/4 215 6.5 5.5 16 16 4 1"
R412004894 28 G 1/4 255 6.5 9.5 16 16 6 13
R412004895 210 G 1/4 275 6.5 75 16 16 7 15
R412004896 210 G 3/8 25.5 9 7 19 21 8 15
R412004897 @12 G 3/8 31 9 7 20 21 10 17
R412010043 210 G172 29 9 7 19 23 8 15
R412010524 12 G1/2 29 9 7 20 23 10 17

*HEARE

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 87
2024-01-18

%% QR2-C-RVT T4E4N

ERTERTL
G @D WHS
[#]
M5 a4 2 R412005617
M5 a6 2 R412026810
G1/8 a4 2 R412004898
G 1/8 a6 2 R412004899
G1/8 a8 2 R412004900
G1/4 a6 2 R412004901
G 1/4 a8 2 R412005616
G 3/8 10 1 R412004902
G 3/8 g 12 1 R412004903
A
- E -
] )
Dy
LR #0D #0e A B c E Sw P
R412005617 @4 M5 15 4 15 14.5 9 9
R412026810 a6 M5 16 4 15 145 9 9
R412004898 @4 G1/8 145 55 15 19.5 13 9
R412004899 26 G18 16.5 55 16 19.5 13 11
R412004900 o8 G18 18.5 55 18 19.5 13 13
R412004901 a6 G1/4 15.5 6.5 16 205 16 11
R412005616 o8 G1/4 17.5 6.5 18 205 16 13

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432)

88
2024-01-18

ES #0D E0OG A B C E SW g P
R412004902 @10 G 3/8 18.5 7 19 24 21 16
R412004903 212 G 3/8 21 7 19 26.5 21 19
R412026809 212 G172 33,5 11 19 28.5 20 19

EMERSON.



AVENTICS CSL-RD RFI'NESH (1ISO 6432) 89
2024-01-18

JHEER , % SI

SR
TN

ERESERE FERE
[I/min]

M5 85 73 0.003 R412010090
G1/8 90 1312 0.011 R412010081
G1/4 93 1852 0.021 R412010082
G 3/8 101 2678 0.028 R412010083
A
l ——
D L - —
S
| L]
2] L1 N
MrS ¥OG SW @D L1 (W
R412010090 M5 8 3.1 10.5 3.5
R412010081 G 1/8 13 6.6 20 6
R412010082 G1/4 16 8.6 29.5 7.5
R412010083 G 3/8 19 121 33.5 7.5
R412010084 G1/2 24 15.3 39.5 9.5
R412010085 G 3/4 30 19.3 45 10
R412010086 G1 36 25.5 495 11.5

EMERSON.



nh elisen: T 12

Efficient pneumatic solutions, our program:
cylinders and drives, valves and valve systems,
air supply management

Visit us: Emerson.com/Aventics
Your local contact: Emerson.com/contactus

Q, Emerson.com
ﬁ Facebook.com/EmersonAutomationSolutions
LinkedIn.com/company/Emerson-Automation-Solutions

pu—

"/ Twitter.com/EMR_Automation

An example configuration is depicted on the title page. The delivered product may thus vary from that in the illustration. Subject to change. This
Document, as well as the data, specifications and other information set forth in it, are the exclusive property of AVENTICS GmbH. It may not be
reproduced or given to third parties without its consent. Only use the AVENTICS products shown in industrial applications. Read the product
documentation completely and carefully before using the product. Observe the applicable regulations and laws of the respective country. When
integrating the product into applications, note the system manufacturer’s specifications for safe use of the product. The data specified only serve
todescribe the product. No statements concerning a certain condition or suitability for a certain application can be derived from our information
The information given does not release the user from the obligation of own judgment and verification. It must be remembered that the products
are subject to a natural process of wear and aging.

The Emerson logo is a trademark and service mark of Emerson Electric Co. Brand logotype are registered trademarks of one of the Emerson
family of companies. All other marks are the property of their respective owners. © 2019 Emerson Electric Co. All rights reserved.

EMERSON

CONSIDER IT SOLVED




